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In building drawing abbreviation for ‘MFL’ as
(A) Minimum FloorA Level (B( Maximum Floor Level

(C) Minimum Finish Level (D) Maximum Finish Level
(E) Answer not known

sligL b auangsalier MFL e efifleungeid

A) GooHs s@rLLLLD - (B) @fswrer geyol b
(O Eopps yisHeow (D) ifsiwnen yisHoo
(E) oo Qgflueddeme

The shapes of surface drains are

(1) Square

(11) Parabolic

(iii)) Rectangular

. (i_v) U-shaped |

(A) () only | (B) (1) and (ii) only
(C) (ii) only \kﬂr(iii) and (iv) only

(E) Answer not known

seoreulf ailg B enwlber 2 (HeukiseTeua
@ sz |
(1) ugeueeTwLd

(111) Qseueusd

@iv) U-ageubd
(A) () owol@o B) (@) wpmd (11) wLHD

(C) (i) wi@w (D) (iii) wHmbd (V) L ED
(E) e Qsflweleoama °
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3. Choose the correct about the set back

(A) May not be acquired for the purpose of widening of Road
Improve visibility

(C) No traffic safety

(D) Less ventilation

(E) Answer not known

Gel-Gus updlu sflwner gereaps CsibASM :

A)  stovow dfleu@ssib CrréssdneE, Cameanlavma

B)  sramyfHaeamu Cobu@ssdns

C) vweansHpe ungisTiy @dama

D) Eooss smHCHILID

(B) oo Qsfueidame

4.  Choose the permissible covered area of ‘D’ type plot
A) 33% (B) 50%
& 60% D) 80%

(E) Answer not known

D’ aumswrar Gerr &@ @IS ESEILIL L (50I_.Lll_|l_|_ ugumu Epaseareubbled

Csib0s5H &b
A) 33% (B) 50%

(C) 60% (D) 80%
(E) el Qsfuiedaane o

5.  The trap disconnects the drain from the sewer and is provided in the last
manhole of house drainage system

(A) Gully trap (B) Floor trap
(C) Nahni trap JD)' Intercepting trap
(E) Answer not known

L ® eugsTd pamufled aP&sLNE smLél srésal. eaumuipuempule aug&me
GRTMWILLD FTEEL @IEQFTGU)U_HHLD QA& @0 @_lemsu_cﬂa) QUIBSSLILIL 19 (BHEGLD 14-TTLI- DS

Quuwi
A)  seel gy | (B) uGarrmit g g
(C)  préaf gy ‘ (D) @eniiQeLlig ki qpml

(E) ofen GgMweflcrenay
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6. North point shall preferably be drawn on the drawing in

- (A) right hand bottom corner (B) left hand bottom corner
right hand top corner (D) left hand top corner

| (E) Answer not known

m@uun..{a{;ﬁei) aL&@ GOWUG abs epamauler cuenruitiiL Couam(hin?

Q) eauwg s s ol (B) @Lg s & apaauded
(C) auag @s Cua apaauded (D) @Lg s Cwe epanauled
(E) oo Qsflwefrena |

7. The bye-laws and regulations govern the following building aspects :

1.  Set back
2. _Floor Space Index |
3. Cost of construction

4. Size of rooms

A 1,2,3 (B) 1, 3,4

W 1,24 D) 2,3, 4

(E) Answer not known

Qeneupld SLligl. Sibsmsmar au-em (bye-laws) wpmb @uhiE waosd

Blreudlsdlenmar.

1. (Set back) Qs Gus

2. SUGermi evGuie @)enblLden
3. | sL_(Honar QEwa]

4. sepsaflen serey .

4 1,23 B) 1,8,4
© 1,24 D) 2,3, 4
(E) &L Qsfwelweme :

o 5 | SRIT/2022
[Turn over



8.  Match the following :

(a) Rhombus
(b) Parallelogram
(¢) Trapezoid
(d) Undecagon
(@ ® ©
w2 3 4

(B) 2
(0) 2

D) 4 1 2

(E)

Eleven sides

Four sides are equal
Opposite sides are equal
All four sides are different

3 1
1 3

WHh = kW
N

Answer not known

QurpS8)s :

(a) smieysgrd
(b) Qeewrsyin

- ugQarmm LsSHIGET
BITen (s, uésaréw;@fo FLOLWD

-1
2.
(¢) sfeusliCumed 3.  adiliuésriser s
(d) <enQLsser 4. mreng usspb QeucuGeupraraal
@ ® @© @ |
A) 2 3 4 1
B) 2 3 1 4
©) 2 1 3 4
D) 4 1 2 3
(E) oL Qgfweldana
9. Engineer’s scales is used to make

(A) Full size
(B) Reduced size
(C) Enlarged size

27

Full size, reduced size and enlarged size

(E) Answer not known
Qurdluimert i@ LweTLIT(H eTemLs,)

(A)
(B)
©)
(D)
(E)

SRIT/2022
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2 (HeusSlen GPDBS Si6T6 GUETWLI
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- 10. Which segment of GPS consists of satellite?
(A) Control Mpace
(C) User (D) Navigation
(E) Answer not known -
GPS apsii Ofey Qeupamss Careans Qanam(hHerarg?
(A) s Euur® (B) edam@Qeuaf
©) uvwenr . - (D) aufpsgid
(E) &er Qsfwccrena,

1L Satellites are stationary in reference to the earth.
(A) Spot A (B) Land Stat
Geo-Stationary (D) Polar orbiting

(E) Answer not known
abs QewpassCararaer Llluid flameawins 2 crarer
@A) e (B) Gaan. dvGLL
- (C)  HGwW-evGLavenf] D) smeu sppLILITS
(E) e Qsflweildena

'12. Which is the inclination of orbit planes of satellites in space segment of
GPS?
(A) 50° (B) 45°
ey 55 | D) 40°
(E) Answer not known |
GPS Qe Qe Gfefd Qewupeoss Camarseflar s&HOLILT®S Fmi6y

GTEUGIETEY?
(A) 50° (B) 45°
(C) 55° (D) 40°

(E) oferL Qzfluefcvenc
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13. The three co-ordinate axes x, y and z refers to

M equatorial plane, 90° perpendicular to equatonal " plane and

®)
©)
D)

()

rotational axis of the ellipsoid

Rotation axis of the ellipsoid, equatorial - plane and 90°
perpendicular to equatorial plane

90° perpendicular plane, equatorial plane and rotational axis of
ellipsoid

equatorial plane, rotational axis of ellipsoid and 90° perpendicular
to equatorial plane

Answer not known

e iFs Camiigen X, ¥ wHmib 2 efeurd Spssam_eumy

(A)
(B)
©)

(D)

(E)

QEEUGLTiue® swger, Bé&EUCLTAwBBg 90° swgand wLHHWD s
Bareul L GHe sLpald oiFs ‘

<iFs  Beteul L sp@Is  Fa, BsGUCLTAWSmES Fwgerd HMILD
@as@u_;Gunﬂu_lg)ﬁaﬂ@‘r_agj 90° gwgarld

90° @QsEWCLMMlSBhs swserd, QsEUCLIMiSmbg swgerd, iEs
Bareul L8 spantd é{&&

B&@LCLTRwe &Log,erru) 25 Beteul L g FPQID  2EE OO
B&GUGLmTulaSmHg 90° swseid

edlenL QgMweldena

14. The method of measuring from photograph is called

(A)
©)
(E)

Radar survey _ ‘MPhotogrammetry survey
Chain survey (D) Compass survey
Answer not known

CurGLrélyrii@Quw A& epab ar@ésiiu@in &G ———— %@L’o.

(A4)
(®)
(E)

SRIT/2022
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15.

The Launch of the first operational remote sensing satellite IRS—-1A was
‘on March 17 "

@) 1971 . (B) 1982

@ 1988 (D) 1995

16.

- 17.

(E) Answer not known

s AGLT. Qsardli Go gy aar IRS-1A ciarao Qegiss Ll L sratb, wnid 17
E—— YT R

@& 19711 (B) 1982

(C) 1988 : (D) 1995

(E) e Qsfweicana

one type of remote sensing
(A) Cont.ouring Merial photography
(C) Levelling (D) Traversing

(E) Answer not known
erauig) MG Qandlidler b cuanst(Bid.
(A)  sram@i. " NB) gfwe Cum_CLrdlgma
(C) Qeoeudm : (D) grmeureds
(E) e9er QzsNweldeame

Which is the carrier signal for distance measurement in almost all total
station instruments? ‘

(A) X-rays (B) Radio waves
(C) Visible rays mnfra Red rays
(E) Answer not known

Smansg dswrer CLMIL® GLager &;@aﬁl&mﬂ@ﬁb Caflwim Hsamons FHITSHS

Sleringler LweL(Heugt?

(A) a&ev sfliser _ (B) GrigGuir sfliser
(C) sarQammafl ' (D) <=is& Heuliy sHiser
(E) e Qzflweldena
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18. Advantages of total station is

(A) Costlier
‘\M Data can be save and transferred to a pc
(C) Skilled surveyors are required
(D) Investigation and checking when surveylng 1s troublesome

(E) Answer not known |
GLrle avGLagaflen paneanaaiien gemm

Q) <ifsea

(B) sseasamer Csfigg Ceumy e saflafss wrhpeid

(C) fpeande siCGouwiiser Caaeu

D)  siGeu QeinydCung), Gaiis Lalsamar sluneIsT erain piiey Qelieug) Siged
(E)  &ev QsNwelrena |

19. kind of data are to be used by GIS.
%{ Spatial data - (B) Binary data

(C) Numeric data ' 4 (D) Complex data
(E) Answer not known A :
GIS aipg auaswiten sroysmens aawLimaTdng?

(A) @L.@srrr'rgj,g,_g)qm (B) eueaf sray
(C) e gyey (D) fssenar srey
(E) &len Qsflweddrena
20. The charged batteries can work upto in the digital
theodolites.
(A) 24-36 Hrs (B) 24 — 72 Hrs
&’ 40 - 80 Hrs (D) 30— 60 Hrs

(E) Answer not known

gl L& HCuTCGLremeL g6 L&m@m_l_l.o Qewiwiul’ L fiensaarsafier, Qswembmn

Cwybd DG LD.
(A) 24 — 36 wexfl Cuyd cuanyy ' (B) 24 — 72 wexfl Crywd cueny
(C) 40— 80 wexf Criid euanyy (D) 30— 60 warfl Cryd auen

(E) &en Qg,rﬂu_laﬁ’lebeﬁa) ‘
SRIT/2022 ‘ 10 10



21.

22.

Match List I with List II:
List I : List IT
(a) Geodimeter EDM
(b) Distomat Hydrographic Surveying

(¢) Flare triangulation By aeroplanes
(d) Floating triangulation It can be used only at night

@ G @© (@
«K) 4 1 3 2
B) 3 4 1 2
©) 4 1 2 3
D) 2 3 1 4
(E) Answer not known

ugd Lo arugd Il -ew Qurpsgs :

Ll

uad 1 ' ugd 11
(a) Geodimeter 1. EDM
(b) Distomat _ 2. Hydrographic <jerefufwié

(c) Flare triangulation 3. aurgnid epeid

. (d) Floating triangulation 4. @grelé LI G @& LweTL@LD

| @& ®. @ @

A 4 1 3 2
B 3 4 1 2
©) 4 1 2 3
D) 2 3 1 4
(E) e Gsflwelicrene

For a Tacheometer equipped with anallatic lens, the additive and

multiplying constants are respectively.
@A) 100,0 %570, 100

- (C) 100, 100 D) 0,0

(E) Answer not known

Siemorgds Geveren GLmMmSSLILILL CSL&J;KSU.IWLBLL.@&;@ Gsiigens wmhlall LHHILD
QumEE wrBled epGu

(A) 100,0 o (B) 0, 100

(C) 100, 100 - D) 0,0

(E) e Gsflwelaena :

11 SRIT/2022
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23. In tangential method of tacheometry, the horizontal distance between
instrument to the staff station (Q) is 27 m, and vertical distance between
lower vane and axis of instrument is 1.65 m. What is Elevation of staff
station (Q) if the elevation of instrument axis is 100, lower vane is fixed
at 1 m and the both angles of target are elevation.

‘({ 100.650 m (B) 101.650 m
102.650 m D) 97.350 m

' (E) - Answer not known

Tangential method of tacheometry —& smels@w staff station (Q) &g 2 drar

feowor L grpb 27 m. Gogub instrument axis - &g lower vane - &g o eer

G‘I&@@gg] gimbd 1.65 m. @raw® QetuEss Caramisar Gua Hawuiso (Elevation)

o erar Gungd, lower vane 1 m -& @méEw CGurgib Elevation of instrument

axis 100 araflé> Elevation of staff station (Q) erémug

(A) 100.650 St (B) 101.650 i it
(C) 102.650 S (D) 97.350 St

(E) &Moo Qsfweldpame

24. Choose the correct statement about Internal focusing telescope.
(1) Additive constant has larger value | ‘
(1) Focusing is done by movmg the lens

(A) (@) only correct ‘f{(u) only correct

(C) Both (i) and (i1) correct (D) Both (1) and (ii) Incorrect
(E) Answer not known

o I Lm AgsreanaGrradlenwt upd sflwreneng CoipEsHESHaLD :

D)  siglige wriawurearg, Quilw Ly wg

() Qeeremen paisgSE oD Gelge AsuLGADS)

(A) () wi@wb e (B) (i1) wi @ &M

©) @) wppid (i) @reinGL> & D) () wpgd (i) GranGi> seup
(E) e Qzflwefdrena

SRIT/2022 12 | o



25.

26.

Tacheometry is best suited for

() Where chaining is impossible
(B) For populous areas
(C) For extremely accurate survey
(D) Where chaining is possible

(E) Answer not known

CL&AHCUMALLA Lweau@BSs Blas Qurmssonear Gphlae
(A)  snded Qsran® Serliug srsHubldrg Gurg)
(B) wésdr Qgmans sisib 2 drer LGHES

(C) Hseybd g]G.DQS].U_ILDITGbT WIS

| (D) s Qs () SeTEGWL LUGHES

(E) &l Qsflweidana

In a tacheometer, the focal length of object is 260 mm. The distance from

_ the object glass to the trunnion axis is 120 mm. Then the additive

constant ‘K’ is

\6 0.38 | (B) 0.35

() o B (D) 100 -

(E) Answer not known

Tacheometer simwinda Qunmeier gefwsgrd (focal length) 260 mm SYGLD.
Guguth, trunnion axis - &@w object glass — s@b e tulL grmb 120 mm,
arafleo additive constant K - aurang

(A) 0.38 | (B) 0.35

© o (D) 100

(E) o Qsflwefdana

13 SRIT/2022
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27. Choose the sum of Interior angle of closed polygon
A) (2n+4)x90° ) (2n—4)x90°
(C) (3n+4)x90° (D) (3n—-4)x90°
| (E) Answer not known
ey ueGsrams e, 2 L Lnéd Camenrhisaf a &L@g,@g,rrmasmugg Csipbs®H
A) (2n+4)x90° (B) (2n-4)x90°
C) (3n+4)x90° o (D) (3n—-4)x90°
(E) -l Qsfweldrencn

. 28. Theodolite fitted with stadia hairs is known as

(A) Transit Vernier (B) Non-Transit Vernier
(C) Trignometrical Levelling ‘@r Tacheometer

(E) Answer not known

GLIg I G enLpaienL e dalgwi SCw rr(EL_n@ml;l_nmg)j

(A)  Corenedll Qeurrefilw® (B) Non-i_gremedli. Qeufaflwi
(C) w&Csramalic Qe (D) CLsACumMS L |
(E)  ofen Qzfluedcrena

29. As per the principle of tacheometry, the ratio of the distance of the base
from the apex and length of the base is always

(A) Zero YB{A constant

(C) One | (D) 100

(E) Answer not known

CL&ACuUmELLA  eigliuemL.  ggglausear Lg, ogar 2 FAWSGES disen
SigLILGEEsTar QFTMOESEGD WHIID HS6 Siqliugdulen Barsdn@onear eldsio

eriGumgd
(A)  ygguo - (B) @@ wrile
C) gam (D) 100

(E) e QsAwedana

SRIT/2022 14 o



30. Assertion [A]: Convex lens is provided between the eye-piece and the

object glass at a fixed distance from the object glass.

Reason [R] : Advantage of using anallatic lens is that it simplifies

(A)

the calculation of distance and heights.

[A] is true but [R] is false

’6 Both [A] and [R] are true and [R] is the correct explanation of [A]

©)

[A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

smom [A] object glass — a\mpa @m GMI_L gisde el Aaengnang, eye-

piece —&@; object glass —&@ @eLuid qurr@gg,uu@é\mg.

smyewrd [R] :  Anallatic lens — e BETEPLOWINENG SITD LOHHID L WFEIEDaT

(A)
(B)
©)
D)
(E)

Sl i, saTEEL( (p@pew cellsTEGADS.
[A] &fl spammed [R] seug
[A] wigis [R] sfuneng. [A] 66 [R] epens sfurar afarésid @i
[A] seug, [R] &l
[A] g [R] sfurars aseme [A] ée [R] wang surer cfearssid Qevenes

e QgMwelerene

15 SRIT/2022
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31. The cross — sectional area of a single — level section with the following
data

Width of subgrade = 6 m

Height at centre =2 m

Side slope =2 : 1 is given by

(A) 18sq. m. K‘ZO sq. m.
(C) 22sq.m. (D) 24 sq. m.
(E) Answer not known

@ L L Qeuliger, GOsE Geul_(H urtiy erararGeiafle
& w L sdlem sEd = 6 M

ewwil uGdluder 2 wigb = 2 m

smieyelflgn=2:1

(A) 18 s.8 (B) 20 &.8
(C) 22s.8 (D) 24 .8
(E) oer Qsflueldena '

32. An excavation is to be made for a reservoir 40 m long and 30 m wide at
the bottom. Mid and top section area of reservoir is 4000 m2 and 7000 m2
respectively. Depth of the reservoir is 12 m. Volume of earth work
according to Prismoidal formula is, (Assume level ground at the site)

(A) 145200 m3 (B) 32400 m3

P 48400 ms . - (D) 72600 m3
(E) Answer not known

- @@ BiGssasden Qqﬂu@gﬁtﬁ]@ Qeul L il [erer syemeurangy 40 B Bemid wHmid
30 BlLf sisan 0. s BiGssssHar pO LGH wipn CoaduEHer
upuuereiser aparpGu 4000 m? wpmb 7000 m2 wHmID WEWw. Qe GuEHuden
b 12 Bl prgn. Qe Liiul L @bs @Lib swger Lpliy oar smd), Prismoidal
el FLg Geul Ll Herer wair LGHulen sar sieTeuTRTE)
(A) 145200 ms3 (B) 32400 m3
(C) 48400 m3 ‘ (D) 72600 m3
(E) oo QgfMweicrena

SRIT/2022 .- 16 o



33. The series of contour lines shown represents a

N\
N
AN

00

)

90

/80
(A) Hillock (B) Pond
Ridge (D) Valley

(E) Answer not known

uLgfle Asr@ésiin L gmufseaiar @ Qauedl @illiug

00

M)

90

\

80
Q) v s (B) e
©€) ws6 ' (D) udrergsras

(E) ofarL Qgflwedérena

. 34. Depression between summits denotes

Saddle ' (B) Overhanging cliff
(C) Hill . (D) Vertical cliff
(E) Answer not known

wee WpahHsErsHaLCuwrer srpeys uGHamw Glliug

(A) L@ EE6H (B) Qszriu@id wereuws®
©) o - - (D) Qeragsg weoays
(E) e Qgflueidene - 0

ol | 17 - SRIT/2022
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35. The horizontal distance between two consecutive contour line is known

as ‘
(A) Horizontal interval \{Horizontal equivalent
(C) Horizontal scale (D) Contour interval

(E) Answer not known

@rar® Qsrisdlunar sran@i Carliyh@ @e ULl L Sl L dgnmeaey ereamug)?
(A) AeLwlL QL Qeuaf (B) ol L @ ewenray

(C) el L sereyGamed (D) snam@r ar_Qeuafl

(E) ofan Qgpfwefcrene

36. Which method of contouring is suitable in hilly area?

(A) By Direct (B) By spot levels
- \ﬂr By Tacheometric (D) By cross-section

(E) Answer not known

Gy LGHSERES ThS (Pern ENeTG Rk 2 FHS PN G ?

(A)  Corg @peon (B) spot level @penm

(C) GL&AHCUMALL A& pern D) EusEAaul® epan

(E) efen Qgflweiicvana

37. The uses of contour maps are
(1) To check the intervisibility of stations
(1) To locate watershed lines
(ii1)) To calculate volumes of reservoirs
(A) (@) only (B) (ii) only
(C) (i1) and (iii) only M (1), (ii) and (iii) only
(E) Answer not known
@mw cueruLkisaflér LwenseTTauaT
1) Gl @U uUTkETaT GL DT DO LIGTETSSTEET erenm idlw
(1) gfaer, Gerhsdr Guream Liarflser Siemwés
(ii1) | BisCassmiseaan LI(HLOET SiaTe Smewr
A) @) wi@Ew . (B) (ii) wi_{Hwd
(C) (1) womibd (111) L Hid (D) @), (1) wpmwb (111) L Hb
(E) eolenr Qsflwelecrane
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38. Which of the following statements are true about the target staff?

39.

(1) The target is provided with a vernier which is adjusted by the staff
man. '

(2) The Reading is taken by either the staff man or the level man.

(3) The target staff is used for only short sightings.

(A) (3) only (1) and (2) only

(C) (1) and (3) only (D) (2) and (3) only

(E) Answer not known ‘

Target staff - upHlw Spssam_ sapmseiler raneu flwimaraneu?

(1) Staffman e adjust Qewiu@bd Vernier Target staff -é
Qumrmss LU (HeTerg).

(2) Staffman wideg level man gpaib wiarelBser a@ssiiLGADS.

(8) Target staff short sightings- &g w @b LLETLESSLLGADS

A) (B)wlipw (B (D) wpgid (2) bl G

©) (@) womw (3) LINCTL I (D) (2) wpgd (3) LA

(E) el Qsfwiefdrene | ‘

Which of the following statements are true about the purpose of
levelling? A

(1) To prepare a contour map for fixing sites for reservoirs.

(i) To determine the altitudes of different important points on a hill
(1)) To determine the horizontal distance between two points

(A) (iii) only '{Bf(i) and (ii) only
(C) () and (iii) only (D) (ii) and (iii) only
(E) Answer not known
Spsam. eursflutisallr arps eunsfunisar purpose of levelling-&g sfiwrer
cursfluniger. ,
(1) BiCsssnsenssns QL sms Hiamuidss sram@i cuaruLLd SwMt QFiiseo.
() wveeuucdsaiar pafuwrar ydalsaid 2 wigtisamar sam B9 556.
(i) @@ ydralaEpsHa G o drar ALl L sMsems samHLiys560.
(A) (iii) v @b ; (B) (1) wpmibd (ii) wL @b
(C) (i) wpmib (iii) wr @b (D) (ii) wpmod (iii) v @b
(E) oo Gsfucioma ~
19 SRIT/2022
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40. ? case of levelling across a river or lake. The levelling is used

Reciprocal levelling (B) Fly levelling
(C) Check levelling (D) Simple levelling
(E) Answer not known

@@ B (Sdag) gluiear GnECs abs Qaeuadn LwaLRSSLILGSDS

(A QrediuCrrésd Qeveued (B) eliener Qaveueiiris
(C) efumiiy Qeeueiins (D) ereflw Qaveuedii
(E) oo QgAueioeme

41. IS Code specifications for levelling staves is

(A) IS1799:1961 (B) IS 1799 : 1964
wor 1S1779:1961 (D) IS 1778 : 1961
(E) Answer not known '
L L &S SOLIRISERSESETE @QbHWLSEST edeurmisar QeThEsiILL L g arH
A) IS1799:1961 (B) IS1799 : 1964

(C) IS1779:1961 (D) IS 1778 : 1961
(E) ol Qgflueldeme

42. Choose the wrong statement — Personal Errors.
(1) Inaccurate levelling of the compass
(11) Imperfect bisection of the object sighted
(1i1)) The needle not being perfectly straight
(iv) Carelessness in reading

@A) @ B) (1)
or (i) D) Gv)

(E) Answer not known

Spsam_aundled seuprer eunsHusms Gaira Qaiiwe|b - gefipufen iglémg,)

(1)  asmbuev-er L L b Hlevewbhns

(1) Cerégw urimes sAwuhng)

(1) &g caflufer eear CrITsE Game

(iv) seuer Gepeurar LHUSE GHSSDH

A @ .' - (B) ()

(C) (i) D) @)

(E) &Neor Qsflueléene .
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43.

44.

45.

A declination of 3° east means

Magnetic North is 3° East of True North
(B) Magnetic North is 3° West of True North-
(C) True South is 3° East of Magnetic South
(D) .True South is 3° West of Magnetic South
(E) Answer not known A
e Hasuie 3° sfley aatug
(A) s1ps auLéE 2 a@rewwter e sfdGhgl 3° AysGs o drarg)
(B) &nps & e amenowiner au_sdlelBpg 3° Cupdld o drarg)
(C) o amamwwrer AsH@ &MHs AsHANBHES 3° HpsGs o drarg)
D) o a@mewwrer AsHE sTHS AsHHANBHS 3° Copdld 2 drarg
(E) e&fen Qgflefcvanad

‘Fore and back bearings of a line whose end stations are free from local

attraction should differ by - ,
A) 90° ‘ﬂ(180°
) o° D) 360°

(E) Answer not known
Carésd il jrésamd urdasiuLrs Gsmiye aGamsg whnw GaGamsd
Guirusafien ellgHwimed ' ‘
@A 90° , (B) 180°
© o (D) 360°
(E) oferr Qsflueldana

The bearing of line OP and OQ are 21° and 310° respectively. The value
of the included angle ZPOQ is

A) 50° (B) 201°

N, gl N (D) 130°

(E) Answer not known

OP wpgib OQ Gsr@sefien Cultigasar apepGu 21° wpmid 310° @b eafle,
ZLPOQ) -én 2 Ganemmid p,ang|

(A) 50° (B) 201°

© 71° (D) 130°

(E) oo Qsflwealdena :
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46. If the fore bearing of a line is zero degree, its back bearing is
@ o | v 150°
(C) 360° (D) 270°
(E) Answer not known '
am Coriger wer Gwfin yoeu wdf aamred, sigar Dear Gud

G LD.
A 0° (B) 180°
(© 360° | (D) 270°

(E) ofen Qzfweldena

47. Convert Q.B into W.C.B.

S 36°30'W
(A) _ 36°30" (B) 71°30'
(( 216°30' (D) 325°30'

(E) Answer not known
Q.B a\@pg W.C.B. wmpma

S 36°30'W

(A) 36°30 (B) 71°30'

(C) 216°30' D) 325°30'

(E) ol Qgfwelcrana-

48. is the whole circle bearing of a quadrant bearing

N15°28'W '

(A) 195°28 (B) 164°32'

2’ 344°32 (D) 344°28'

(E) Answer not known

N15°28'W g4 Qarear_ em @eaurgarn’ Quiider, wpepeul L Gu

erei(Lb.
(A) 195°28' (B) 164°32'
(C) 344°32 4 (D) 344°28'

(E) oo Qgflueddane
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49.

50.

Match the following about the graduation mark on the Prismatic
Compass

(1) 0°mark a. North
(2) 180°mark b. South
(3) 270°mark c. East
(4) 90°mark d. West

@ ® © @
A 1 2 3
B) 2 1 4

4
3
w2 1 3 4
3

® 1 4 2
(E) Answer not known
QA GvGioL ig& smbuader Caram GHluiGsmar sfluns AUT®BS5s

1) o° @;f,]uﬁ@ a. aL&®
(2) 180° @Ok b.  Qsv&
(3) 270° mALIH c. &pss
(4) 90° EAUGH d. CGuog

@ G @ @
a1 2 3 4
B 2 1 4 3
© 2 1 3 4

3

D 1 4 2
(E) oeoL Qsflweldene

Prismatic compass readings are usually ‘estimated upto nearest
15 minutes (B) 30 minutes

(C) 1°Angle ‘ (D) 15 seconds

(E) Answer not known

9 AGvOLOL 14 STDLIG-6T GeDhS Camant AU ieTey

(A) 15 8af (B) 30 el

(C) 1° Garemrid (D) 15 Qssan®

(E) olenL QzfMueidrena |
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51. Which of the following statements are true about survey lines?
(1)  The line on which the frame work of the survey is built is known as

“Base line” A

(i) The line joining the apex point of a triangle to some fixed point on
its base is known as “Check line”

(111) 4 Lines joining the main stations are known as “tie lines”

(1) and (ii) only

(B) (i) and (iii) only

(C) (ii) and (i) only

(D) (i) only ‘ y

(E) Answer not known

Spsam. amrsfuniseile apbs euréfluiiser survey line -eow Quirmss sAuraree

(1)  Survey-er frame work -ew o mens@n Gsmyhe “Base line” Ty
Quuwi '

(i) psGoramrs ugHular 2 sAWNBHS, s oiqUEGAGT @GOG L
Yeraflég euammutiu®n Carligh@ “Check line” aramgy QL

(1) pa&dw Aeewls yeralsmer @eaaragn Gam iy e “Tie lines” erem QUi

@ ) wppid (i) o Gid

B) (1) womb ({ii) w @b

(C) (iii) wpmd (1) wi @Hid

D) (1) v @b

(E) oo QsAueranay

52. The working principle of the optical square is based on
(A) Reflection (B) Refraction

(Ef Double Reflection : (D) Double Refraction
(E) Answer not known

T Ly & FGI&ESEen Coumev Biig LiLienL i QEmaRrL_g)?

A)  Qruediiiy (B) gqeafielasd

C) @rieL Yrduadiy (D) grie gaflelagsd
(E) o9erL Qsfluefdrenas
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53. What is the lateral surface measured from chain to object?

o Offset

54.

(B)
©
D)
(E)

Long offset
Short offset
Oblique offset

Answer not known

siiflefludleflmbg QuTmEnEE Sarell L@ usseur_(H CuhugLiy

A)
(B)
©
D)
(E)

- TRNNTAY: i

BeTL. e 1GF
GOIAW e 1E&
SMUBS Do L1QFL
ellenL Qgflwelldene

The Process of a location of intermediate points on a survey line is

(A)
(B)

Aligning
Extending

@f Ranging

D)
(E)

Offsetting

Answer not known

em sarsbda®iy CsmlieL eaearunsEb Quryg @eLbloe Udalsafler
AU sms GhéEn Qawued aeapewu GAAE

A)
(B)

(D)
(E)

Eremwsge

Blabsod
©

QUL
Do oL IQF _1g MBI
allenL Agfweilcrene
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55. Clino meter is most commonly used for measuring :
(A) Vertical distance (B) Horizontal distance
The angles of slope (D) Horizontal angle
(E) Answer not known 4
Qs sieredlBeusne HafCammBL i uwau@RSsLILGADS!
(A) Qeufrig&e g.6vL_ctT6 (B) anfsrawed gy
(C) sAeysaflen Garanrd (D) anAsrar_c Camemid
(E) e Qgfweldena

56. The ranging rods are painted alternatively with red and white (or) black
and red (or) black and white bands (each) of height cm.

(A) 30 ®B) 15

< 20 (D) 50

(E) Answer not known

aupssons Crepéln tjrr@ fleuliy wpmb Qeudrener Sid@F SMHUL WHDID Heuliy
Svag smUY wHRL Qeudraar Hipkisaile euiard LeiL@L Qurg gaiGeanm

s._(sefern i oaflar sjere ——— Q.18
4) 30 (B) 15
€ 20 (D) 50

(E) e Qgflwefdena

57. Negative cumulative errors in chaining caused due to
(A) Length of chain shorter than standard length
Length of chain more than standard length
(C) Bending of links while measuring
(D) Removal of rings during adjustments
(E) Answer not known
Fiiflef siGeu-@d ApaL g6l sl AL 9empunang), rgamme ghuBEng!
(A) Hrerw srdlel farsems ol Gamauns QHHSTD
B) Mierw erifled fersens el siflswns QEHbSTD
(C) iamey ar(R&EDL CUNE, GEERTLIL] QUEDETEUSTED
D) sNQsiyb Curg cueerwiorang BriGeausne
(E) &eo Qgflweférene
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58.

59.

60.

Calculate the true distance between two points
If measured distance = 720 m
Length of chain = 20 m

And error in chain = (+) 4 cm'
(A) 720.44 m ’t{)721.44 m

(C) 72244 m : (D) 723.44 m
(E) Answer not known ‘

@reh Yerefls@néiE Qe ullorar 2 aramwwret SIfEas a;mra;ﬁ@
Serssu L gigw = 720 S

srafledufen Berd = 20 S wHYD

srudlafufed e = (+) 4 Q&.15. 248 QHHSTD

A) 720448 . (B) 721.44 S5

S (C) 722448 (D) 723.44 8

(E) efen Qgflweeranay

The distance between two points measured with a 20 m chain was
recorded as 200 m. It was afterwards found that the chain was 3 cm too
long, What was the true distance between the points?

200.3 m (B) 200.03 m

(C) 199.97m D) 197 m

(E) Answer not known

o 20 m Qstamed Q@ ydallsErsg Qe Gu edrmer g 200 Sl e
sam_Bwuiu@dpg. Qs@alear farbd 3 As.S sflswrs o drarg aanmg Gemen
DwLILGADE), arafld G YetallaEnée QLG 2 6TaT 2 a@raLwITearT SITrearg),
(A) 200.3 BScw (B) 200.03 S

(C) 199.97 S i D) 197 S

(E) o&e Qsflueldana

The preliminary inspection of the area tg be surveyed is called
(A) Final survey Reconnaissance survey

(C) Pacing survey (D) Ranging

(E) Answer not known

a;cm&@a;@asa;uut_ Geuaitrig.w LG Huflem L Teummbs <pie] @eumrrgn SiowssiuGEng
A) gyt (B) 2 6Tey LIMT$Se

(C) GCsishl samsQs@ioy (D) eugiby

(E) &S Qsflweiidvene
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61. Match the following :

Key Function defined
(a) F3 1.  Grid on and off
(b). F7 2. Saveas
(c) F8 3.  Osnap on and off
(d) Fi2 4.  Ortho mode on and off

@ ® © @
A 1 2 3 4

3 1 4 2
©C) 4 3 2 1
D) 2 4 1 3
(E) Answer not known

Wemeu(meuaneupenn QLTSS
& QewaCrrEssms euemrDISse
(@) eu3 1. AL o6 whmib L
(b) a7 2. Ggeéu e
() a8 3. QREUANTLI 6T LHOID el
(d) er12 4.  iCsTCTL 6T LHDID Bpeols

@ ® @© @
A 1 2 3 4
B) 3 1 4 2
©C) 4 3 2 1
D) 2 4 1 3
(E) e Qgflueddrency

62. This command retrieves all object erased by the last erase and after
executing block or W-block command
Ww? O0OPS (B) Erase
(C) Remove . (D) Purge
(E) Answer not known
@bz slLeenunarg, veams (o) W-letné Qeswou@ssy GpE, @Qodwuns
SiIfldstuL sl emargamer AL (HésL LweaTuGEnsg)
(A) OOPS (B) Erase ’
(C) Remove ' (D) Purge
(E) & Qsflwefdvena
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63.

64.

65.

The centre of a specified circle or the point at which a specified arc and
circle intersect at
(A) object snap - (B angle
(C) distance @7 origin
(E) Answer not known
@m GO L el e ewowid Sd@g @ GSHUGLL aimare) WHHID GuL LD
shH&@D Yarah
A)  <=QgsL avGart (B) Gsnanrid
(C) gmb (D) Gsmpoid
(E) o&lev Qsflueldane |
Which function key is used for on / off object snap, while drafting in Auto
CAD? A
(A) F8 (B) F5
(C) F4 v F3
(E) Answer not known
<L CLCGaipe cuenpey Qeliyd Curg liCns  safler Gm(ﬁpu abs Geweur @
elleng LwaLIHESLILBEDS!?
(A) F8 B) F5
(C) F4 D) F3
(E) o&Ner Qzfwefdwvena
In Autocad command, give the variable name used for suppress the first
“dimensions line
" (A) DIM FDI - OFF (B) DIM FDI - ON
w( DIM SDI - OFF (D) DIM SDI - ON
(E) Answer not known
2 CLrGs® sQua 14, (pse BLig iy Car®, wepliugparer Gauflwier Auwemys
8%).9]85
(A) DIM FDI - OFF (B) DIM FDI - ON
(C) DIM SDI - OFF (D) DIM SDI - ON
(E) e&feni Gg,rﬂu_lzsﬁlsba)ev
29 SRIT/2022
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66. This command allows the user to pick-up the points very accurately with
respect to drawing displayed.

(A) OPTIONS (B) GROUP
] OSNAP . (D) STRETCH

(E) Answer not known

Qibg slLear uLwert &TLLUUGL euarsd Qsriiurer yereflgemer seyid

gloalwions T(H&E A@LHEEADG
(A) OPTIONS (B) GROUP
(C) OSNAP (D) STRETCH

(E) oo QgAueidane

67. Drawing commands in AutoCAD includes

(1) Circle

(2) Ellipse

3) Arc

(4) Array

@A) 23,4 \‘Bﬁ 2,3
©C) 1,3,4 D) 4,2,1

(E) Answer not known

AutoCAD-é Sipssam_meu cuanrse s L aarsefle ik
(1) e (Circle)

(2) Bereuc b (Ellipse)

3) euaara) (Arc)

(4) efes (Array)

A 2,34 | B) 1,2,3
© 1,3,4 D) 4,2,1
(E) &eo Qsflweléame
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68. Match the following :

Key sfrokes Function defined
(a) Ctrl+7Z 1. Q Save
(b) Ctrl+S 2. Paste
(¢ Ctrl+V 3. Delete
(d Ctrl+X 4. Undo

@ ® (© (@
‘(A 3 2 1
@ 1 3 4
© 2 4 3

@ s 1 2

(E) Answer not known

LW = DN W

Qere(meuaTeunanm QLUIM(HSSIS..
& avl_Grréev QewHCBTESESM®S U TN
(a) Ctrl+2Z 1. &y Geeu
(b) Ctrl +S 2. QGuevl
(¢ Ctrl+V 3. Qe
(d Ctrl+X 4. el
@& G © @
A 3 2 1 4
B) 1 3 4 2
©C) 2 4 3 1
D) 4 1 2 3
(E) &ferr Qsflweiidene
kel | 31 SRIT/2022
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69.

70.

In CADD A
Cutting and pasting 1s entirely computerised
(B) Drafting is done in pencil
(C) T-squares are used
(D) Compass is used
(E) Answer not known

CsL_ (sanflaf 2 56 auigauaoliL] LHMID uamISeiien)

(A)  slgm whmyb Cuevign wpHRgIb seflaf wwbrssiiLl L g
B) eaumre Quarflale QawiLGEng

(O g-ewQsruir vuaTL@ESSLILGEDS

(D) smbuey wETLHSSLILGEDS

(E) eler Ggfwelaeme

In AutoCAD, three types of geometric models are

(1) Area model
(1) Line model
(ii1)) Surface model
(iv) Volume model

(A) (ii),. (111), and (iv) only (B) (), (i1) and (iv) only |

(1), (11) and (iii) only (D) (i1) and (iii) only
(E) Answer not known '

In AutoCAD, epangy euigefwé wrdfsarmeue
(1)  upiy ordf '
(1) Gsr® wrdHf

(111) CuHugiiy wrHM

() sarwrHM

A) (ii), (111) wHmb (1v) v Hb (B) (1), (i1) wHmd (1v) B

©) @), (a1) wogd (111) wLEb - (D) (11) wpmio (1) L GD

(E) oo Qsfweldena
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71.

72.

73.

Two tangerits AB and BC intersect at a point B at chainage 150 m.
Tangent Length of BT} and BT, is 20 m. The length of curve is 50 m.

The chainage of 7} and T, are

130, 180 (B) 170, 220
(C) 130,170 (D) 170, 180
(E) Answer not known '
Chainage 150 8i it oarer yerefl ‘B’ e Qmw Qsr@Csr@sar AB wpmi BC
Qaul_pélemmen. BT, wpgo BT, eremp Qsr@Csniigen Sarworarg 20 S L gma@n
auenerelen Berwomeang 50 B Lgr@w erafled chainage Ty womid Ty aperpCGu
(A) 130,180 (B) 170,220 |
(C) 130,170 (D) 170, 180
(E) ofen Qgflweiidena

are provided on roads or railways for the easy change of the

direction.
(A) Simple Curves (B) Reverse Curves
Horizontal Curves (D) Compound Curves

(E) Answer not known -

@ruleCeu HMID Frane SeLIbed SoLILTS S LIHDISDES
(A) ereflewwrer cuemarey (B) sowedp eumerey
(C) deLwlL eauemerey (D) seeneu cuamaray

(E) el Qsfluelicoaney

The height through which the outer edge of the turning road or rail is
raised its known as

\(Kr Super elevation (B) Camber

(C) Foot Path (D) Kerb

(E) Answer not known

FTo Soog gariaransadar Qeaefiiyn ugd Aouurseiar Curg sdm
o wisSLILGEDS. QbS 2 LrSms Qeieumn HPsELILHEDS.

A LUt wgb (B) enés smiey

(C) peLrurms (D) Kerb

(E) ofer QgRweldrena
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74. Length of line AB and reduced Bearing of line AB is 200 m and
\?° E respectively. Departure of line AB 1is
)

100 m (B) =100 m
(C) 17321 m (D) -173.21 m
(E) Answer not known

AB aanm Gamiyer @epssiiul L Gulm wpmbd Serorag weanGu N 30° E
o 200 B i g @h. Qbs Carlgear Departure <yeg

(A) 1008 (B) -100 8

(C) . 173.21 8 (D) -173.21 8

(E) ol QgAweldrene

75. The Latitude of a line is calculated as
A L@ A (B) L sin 8
d Lcos 6 ’ (D) Ltan @
(E). Answer not known

@m Carlig e S sCranswneang

A L@ . (B) Lsiné
(C) Lcos® (D) Ltan 6.
(B) &e Qgflwelaena

76. Identify the personal error in Theodolite survey
(A) Atm_ospheric error (B) Temperature error
(Zr Inaccurate sighting ' (D) Eccentricity of vernier
(E) Answer not known

HCUGLrena_ siGeuudgyarer gafliin L Geipulenar SienLwmeTd SremmaLb.
(A) a;LLmrrduﬂu_lrﬂé; Qenip (B) &Cgmagenr Ganp

(C) goAwuwpp uriee (D) QeufreflwMer enowimipey
(E) e QsAlweldrene ’ )
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77. The type of Traverse in which origin point and ending point are different
is known as

(A) Closed Traverse

M Open Traverse

(C) Ending Traverse
(D) Included Traverse

(E) Answer not known

@ Lyreuiedlen epeoliLjerafl wdmib apiyeyliyerefl QeucuCeuy erafley, oig)
(A)  epgw Lyreufre

(B) Hops Cyreufa

(C) @yeuemLwb Lyreuiten

D) @eLuuc Cyreuiia

(E) ofenr Qgfweldane

78. Double sighting is a method used for
(A) Bisecting a line
\(Bf Prolonging a line
(C) Erasing a line
(D) Dividing a line

(E) Answer not known

@rlerL L1 LimTeney eTenLIg @SMHEGL LweTL(BiSSUILMHWD 6 (PEDWITE@GLWD
A)  emCsrioL Qrar_rsl Gfssda

B) emCsrim fl4ss |

(O omGsmamr fss

D) omCsriem 9Nss

(E) oo Gsfuefdeme
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79. In Repetition method, the accuracy depends on -

\ﬁr No. of repetitions
(B) Theodolite

(C) Reading the vernier
(D) Least count of theodolite

(E) Answer not known

Hmou daiinb papuler goaslwuwrag Qms AQurbig Samwdng
(A)  BSar@w Bar@u erarasms

(B) #HCurCGLrenel-

(C) Qauialwey setiiLg

D) HCwrCLrema e G@nHELILE HaTey

(E) oo QgMwelerena

80. Which of the following actions does not relate to operation of a
theodolite? '

(A) Inverting | (B) Swinging the telescope
(C) Face left and facé Right ﬁrRanging
(E) Answer not known

SpsarL.  Qewdurpsefled gam  HCurGLrewe e — GAeweum(HLe
QsrLmieensg) ,@w - ‘
(A) Qeéreuigm - (B) evedriidiri 5 QL eavGaL

(C) Guev Qaui wpmib Guav erL_ (D) Grepéiu (Ranging)
(E) e&er Qgfwelerena A
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81.

82.

83.

For a theodolite revolving the teiescope in the horizontal about its
vertical axis called
¢ Swinging (B) Transisting
(C) Balancing (D) Face changing
(E) Answer not known
HCwrCLreme AsTaaCrrss AsbiGss vdms QUTmISS S oL &%Qf_mﬂ @eueummy
SossliILhEng
(A) evelimdin | (B) Lyrendlavig s
(C) CGuevenéin D) Guev Ceenrélm
(E) oo Qsflweidame
"Trunnion axis of theodolite is also known as
(A) Vertical axis (B) Axis of telescope
W Horizontal axis | (D) Axis of plate level bubble
(E) - Answer not known
HGwrGLrene g e Lyenafluflen 1§85 ————— erampid S@sstubhEng
(A) QesmEss &s (B) QsrenaCpréfludlen i&s
(C) A &CsmH D) 5.0 o GUOPuden 2iFs
(E) &Hev Qzflweldvenad
The vertical circle is a circular graduated arc attached to the
axis of the telescope.
(A) Inner axis 4 (B) Outer axis
W Trunnion axis (D) Line of sight
(E) Answer not known '
Qeu@ss el L aatug QgraoGpréduiar ———— EHD @ameRTESEILILL
QUL GUIg 6 QUIGNETE p(GLD. )
(A) o6t Es (B) Qeualiliym si&s
C) Lemalwen iéa (D) uriieweus Gar@®
(E) oo Qsflueldena
37 SRIT/2022
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84. In survey plans, colour used for the feature compound wall is

ﬂ( Indigo (B) Crimson lake
" (C) Burnt Sienna (D) H. Green.

(E) Answer not known

&iGeu Garmensafle apmFFeut ST L LWETUASSLILGEDL Hmid
(A)  @airgGar (B) &fibsar Cas
(C) uren Awenenm (D) H. fifen.

(E) e9er QgMuedcrena

85. Which of the following method does not relate three point problem in

plane table survey?

(A) Bessel’s method

(B) Tracing paper method
(C) Lehmann’s method |

\6( Concyclic method

(E) Answer not known

Spsar cumsseller gy GGarar GLder #iGeuude o ater three point problem
amssEbLar AsT_Mldarsg

(A) Bessel’'s auans

(B) Tracing paper cuens

(C) Lehmann’s cuens

(D) Concyeclic cuens

(E) oo Qsfwueldana
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86. In plane table survey, a small triangle of error is formed in three point

method which is due to
(1) Careless manipulation
(i) Unequal stretching of the paper
(ii1)) Too many points
(iv) Single station
(A) (i) only
®B) @) only
" € (i) and (ii) only
(D) (iii) and (iv) only

(E) Answer not known

swger Jjersamauld o drer apany Letefll samsAlc FHu@Hem Adlw p&Garem gl
Genyp eranLig) eTpanmed erafled,
() selAuwrer e,
(1) swowHY BLAs6T

(i) oPswrer Lerefser
1v) @m@Lb o

A) (1) wi@Eb

B) (1) v

©) (i) wHoyb (1) v @b
@) (i) wppd (v) v G
(E) oo Qsfucloma
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87. In Plane Table survey the close traverse method is the more satisfactory,

because
(1) The duration of survey is less |
(11) It is the easiest one to which to apply corrections for the errors
(111) Both (1) and (ii) are correct
(iv) ' Both (i) and (ii) are not correct.
(A) (@v) only
(B) (iii) only
~e (i) only
D) @ only

(E) Answer not known

FLOFET SHTEMSUINET G(Mh (PEDWITET eplg Wt HLsenaudler HApliLimeng

(1) pLéoms, Qeliyb STRSIETE G®DEY |

1) Qo Gewew amripon apelb LATEsNES aumrmouds sRurssad
1) Q) whgd (1) spmpser s

(V) (1) whmo (i) sppiser saug

(A) (V) i Ew

(B) (iii) w@w

(O (i) vlEw

D) @) wiEo

(E) oo Qgfluaicrency
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88.  Match the following type :
(a) Radiation - 1. Only one station
(b) Intersection 2.  More than station
(c) Traversing 3.. Two station
4

Three station

@ G (©
& 2

3
B) 2 3 4
2

C) 4 1

D) 3 4 2

(E) Answer not known

<§Q&;6&>‘r®6ﬁmwg’)mm QuTSSIs :

(a) CGrgCGusen 1.  &GyeamvGLsa

(b) @enQssagen 2.  sfsiugwrear cuGLger

©) woreuidl 3. @uen® cuGLsar

| 4. qpeng GoGLsen
@ ® ©

A 1 3 2

B 2 3 4

C) 4 2 1

D) 3 4 2

(E) oo Qsflwelerana
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89. Pick out the correct statement:

(A)

B)

D)

(E)

U — Frame is used for orienting the plane table

The drawing sheet used in plotting a plane table survey needs no
special care in fixing on the board

An plane table alidade is a straight edge with some form of
sighting device

A simple alidade and Indian pattern clinometer source the same
purpose

Answer not known

sflwrer Plémaamus Gg,r'rg_'r,@g,@é;a;ml.b

-(4)
(B)

©

(D)

(E)

y-9Grb WGarer GLber Cprég flaauie LwaLBEps
QGarerr G196 #TGeuudled LwemUBSSLILIHWL cuanpge Cumiiyd Qummsgieuda
fmuiy seuand Csenauulicbena

@ WGarerr GL 96T 260CL L eTenLigy) v auanswmen LmTaney STSETISSIL G gL
Crymen edlaflibLimao

@m erafl 2eflGLL  wHmiIbd @pﬁm CuiLien HafiCeanmBLlLtger ¢y
CoraasHnans Caamet Qauifleanpen

allenL G flwafldena

90. Alidade 1s an instrument used in

A)

Compass surveying (B) Chain surveying

W Plane table surveying (D) Theodolite surveying

(E)

Answer not known

NG eTgd (1 H(Helll, @) SDETELI Lwiemu@ib

A)
(©)
(E)

SRIT/2022

smouen FrGeauufs (B) Qsulen siGaiudn
19ACerer GL19air &Gauudin (D) HCunGLrerari &TGeuudini
efenL AzMweddrana |
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91. The first temporary adjustment to be done after setting up the plane
table at any statlon will be

(A) Or1entat10n . (B) Centering
@ Levellng (D) Sighting
(E) Answer not known

- 9Gerenr CL QT ahs LCLeagellgid @S G QFLWLLBDL WsD FHESTES

&fl Qauwise
(A) Cpréghlow - (B) evowiu@sgise
©) swamuEsHEd (D) unievas

(E) &en Qasflwaidvenay

92. Large size of plane table is
(A) 50 x40 x1.50 cm (B) 50 x 50 x 1.50 cm
@ 75 x 60 x1.50 cm (D) 80 x 60 x 1.50 cm
(E) Answer not known '

Qufiw 16Tey 2 ML WL FOSET LIS ‘ ‘

(A) 50 x40 x 1.50 @&.5 (B) 50 x 50 x 1.50 Q&.15
(C) 175 %60 x1.50 Qs.i8 (D) 80 x 60 x 1.50 Qs.18 -
(E) e&9er Qgfliualdvens

edge of the Ahdade should be straight.

\U{Fldumal edge ' (B) Ebney edge
(C) Straight edge (D) ACross edge
(E) Answer not known

SACL B ppad CrIGsHTE cueru LwaTLB LGSHufar wpenemufen Cluwi
A)  J9pHwe apenar (B) erurefl apener

(C) Cpir gpeven ~ D) cns6 o

(E) o&HeL Qsfllueldome - N

o 43 SRIT/2022
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94. In which Quadrilateral all sides are equal and angles are not at right

angles?
0~ Rhombus | (B) Trapezoid
(C) Rohmboid (D) Rectangle

(E) Answer not known

ThS BTHETSED Smanss) uésasréw;@m. gwwrsa|b, Garamhiser CsriGsramsSlabd

B\(m&E&TE?
(A)  smiips Garemid | (B) CCrusmii()
C) Qoarsybd ' (D) Qssieusd

(E) aferL Ggsflweleeme

95. Choose the type of line used for “Invisible Edges”?
(A) Long chain thin |
(B) Long dashes
(C) Short chain thin

6 Short dashes

(E) Answer not known

‘samam&@s Asflung eleflbysErss” ummu@gguu@m Gam_y e auans CanpAs6H ?
(A) Ber Qe sriifla

(B) BawL Car@aar

©) Goduuvadu shdd

D) Epdwu Csr@adr
(E) efen Qsflucldrancy
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96.

97.

98.

If the scale of the drawing is 10:1 then the scale is called as
(A) Full size scale | (B) Reducing scale
\éer Enlarging scale (D) True size scale
(E) Answer not known
10:1 GT&ILT) avGEale euanmuitil L auanrLLgSler ere|Came (avGad)
(A) yéensav cvGse (B) Qrewds evGae
(C)  erenoomisdi cuGae : D) Lepansav coCsa
(E) oflen Qpuicfidsena |
Letters and numerals are designated by their
(A) Thickness : Height
(C) Shape - (D) Style
(E) Answer not known
| T(PSGIEEET LHMILD CTERTHET SeuDPlet ——— epavid GMESUILHE atmer
(A)  syuwer , (B) =_wmb
(C) eugeud (D) unemfl
(E) elenr Qgflweldrena
Which grade of pencil is used for sketching?
(4) H (B) 2H
(C) 2B ) HB
(E) Answer not known
@aﬁl@m suamrausN(& eThs s7 Guenfle LweatuhSsLILGEDS? -
(A H (B 2H
(C) 2B (D) HB
(E) &ev Qsflwefvena
45 SRIT/2022
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99. ' Thickness of B, Drawing board is as per 1S:1444-1963/1977 of BIS

\6 25 mm (B) 20 mm
(C) 15mm (D) 10 mm

(E) Answer not known

[S:1444-1963/1977 BIS-& @duA'e B, eorsed uveomstea  sgoer

BB
(A) 25 19.8 | (B) 20 ¥..8
©) 154.8 (D) 10 .8

(E) e Qsflusidana

100. The location of title block in a drawmg sheet is at the
\ﬁr Bottom right hand corner
(B) Bottom left hand corner
(©) Top right hand corner
(D) Top left hand corner

(E) Answer not known

auerULgTalé SeeiL AsrEHuldn @b
A)  &p g apaeuia |

B &) GLs powds

(C) GCué auwg apameuie

(D) Guwe GLg apeveruled

(E) oL Asfucimee
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101.

102.

103.

In drainage work H.F.LL means
(A) High Speed Level &7 High Flood Level
(C) High Flow Level A (D) High Feather Level
(E) Answer not known
sroeumis Cauamasafiey H.F.L. erenug elfleurgsid
(A) =fCGeusomer LD (B) <=ifsus Qaudrer ol L tb
(C) <ifsaufips wlLib (D) <ifs paanLen saigw LD
(E) e&fenr Qzflweldane
In ISI Recommended to Earth work calculation ————— units.
@A) A*+B* v Cubic meter
(C) Square meter (D) Running meter
(E) Answer not known
@pHu g7 Hiamuliug wear Qe G Gaiame ————— AVGSHEND SHATESTLD.
(A) A?+B? . (B) san B
(C) sgipdblod (D) Qgmi Sl
(E) ofeL Qgfweldena
The bed level of canal and drainage is at the same level a ——— is
provided. ‘
\(Af Level crossing (B) Pipe aqueduct
(C) Irrigation culvert (D) Syphon aqueduct
(E) Answer not known
sToami LHML gsTd u@sms wLLb @Cr wlLgHd QMmEGLEUTE @
SimwssLILHEDG.
(A) Qaee éﬁl}ﬂéﬂtﬁj (B) @pmi Breud
(C) unser sréeumi (D) s’ Cumen Bieuf
(E) &fenr Qzfweiidene |
47 SRIT/2022
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104. A thin line composed of alternate long and short dashes of consistent

length represents the
(A) Edges (B) Surface lines
(C) Boundary lines s@r Centre lines

(E) Answer not known

Quaeiw Her wpmid AMwr-Car@ser wrd wrd Caibgl, wrnTE BaTssIsHE euamuLHLIBILD

Ganhser
(A) edeflibyser (B) uguys Gesn@mser
(C) ey Csr@ser D) ewws Car@aer

(E) &leL Qsflwelevena

105. The size of the room in the line sketch represent only the
measurement. ‘

M Internal

External
(C) Including wall thickness
(D) Both Internal, External and Wall thickness
(E) Answer not known

e avblE S mmt}uuu@w Gungl senmullen éqmeq&;m — gamei(safle
L H @Qm&s GouaTHib.

(A) =iy
B) Qeuefliym

(C) seaupdlen sy manyb Csiss
(D) oy, Qeueliiy wHYID FeupBlen Sig e b Caids
(E) oo Qsflwuelérene
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106. As per National Building Code the maximum height of riser shall be
(A) 150 mm mQO mm
(C) 250 mm ' (D) 300 mm
(E) Answer not known
Crageen 9evigm Camgar L., FsLs engalen o W )
(A) 150 .5 (B) 190 8.8
(C) 250 4.5 (D) 300 .18
(E) e Qgflwelcrens

107. What is the another name for ‘sub-divisional plan’? -

(A) Key plan mayout plan

(C) Sanctioned plan (D) Approved plan
(E) Answer not known :

gieam19Mey S sHen wH@DT® GLwi eTemer?

A) b _ B) g,mm@mﬂ W [T

(C) <igwdésiu &b (D) omdsfssiu L HlLib
(E) &Mev Qsflwelrane

108. In Drawing, length of scale is calculated by
" RF x Maximum length (B) SF x Maximum length
(C) VF x Maximum length (D) PF x Maximum length
(E) Answer not known

alarsele, slatelar Barid sar® 9 LLgHETE GSETD

(A) RF x s fawrar Berd (B) SF x siflswnen fard
(C) VF x oflswrar farid (D) PF x sifiswmen Berd
(E) e Qsflwaideana

3 49 , SRIT/2022
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109. The width to length ratio of drawing sheet is
A) 3:2 ‘ (B) V3:1

W 142 M) 1:1

(E) Answer not known
UL grallan ssws8DEDL Bersdb@Ewdrar & sw0mang)
4) 3:2 B) V3:1

€) 1:42 @ 1:1

(E) o9er Qgfwedcrena

110. Layout plan which shall be drawn on a scale not less than
(A) 1:100 " (B) 1:200
(C) 1:400 7 1:500
(E) Answer not known
Co oy Germer — ATCETE@RES — GODWIDD  eUaFLILLLD
cuanquwiuL. Ceuair(Hibd
(A) 1:100 (B) 1:200
(C) 1:400 ‘ (D) 1:500
(E) e9en Qsfweferancy

111. Elevations are typically created from the faces of the building such as
(1) Top and bottom
(1) Top, bottom and side
(ii1) Front, rear, right and left »
(A) () only (B) (ii) only
(C) (), (i) and (iii) only M (111) only
(E) Answer not known
R gL glen upsLiLg Camhmid apg, THS Li&SESE 6 euemuu_l(yslq.um GTEATLIG;
(1)  &p womid Gué
(1) &, Cuwd wHyb LES L GHd
(111) qpenussD, NeTLESLD, CuagILDLD LHMID GL_gILDLD
A  (G) v @ B) (i) w @b
(C) (@), (i) womw (iii) wL G (D) (11) vl @Eo
(E) oL Qsfluedame |
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112. Match the following :.

(a) Engineering drawings
(b) Site plan
" (¢) Surveys
(d) Maps

@ G @ (@
w’ 2 3 4 1
B) 3 2 4 1
© 3 4 1 2
D) 2 4 1 3
(E) Answer not known
- QuImSEs.
(a) QurAl@wie euerULEISET
(b) serl LLBIsET
() e sierenauser
(d) GsHlul u ks

@ ® © @@
A 2 3 4 1
B 3 2 4 1
C) 3 4 1 2
® 2 4 1 3
(E) oo Qsfueidame

In meter
1. Scale 1:1000000
2. Scalel1:40
3. Scale 1:5000
4.

Scale 1 : 50000

ere] B M

1. 1:1000000
2. 1:40

3. 1:5000

4. 1:50000

51
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113. The Satellite Constellation of GPS consists of

(A) 4 satellites - (B) 6 satellites

(C) 18 satellites M 24 satellites

(E) Answer not known

é]t_‘ﬂsrdu aggaman dewpamss Canaraar Asm@Lidemer Qs meirL_g)?

(A) 4 Qswupens Canarser (B) 6 Qswmpens Caneraar
(O) 18 Qswnhens Caéaraar (D) 24 Qswpers Canarser
(E) ol Qgfluecvana |

114. The minimum number of satellite in each orbit required to work GPS is

@ 1 | ®) 2

- (C) 3 V7T 4
(E) Answer not known .
galdlan® spgurasigis GPS  Gaueme Qsiws Cseawrar @opssuls
QewpenssCaretaafien cTmenilGEang
A 1 | (B) 2
€ 3 D) 4
(E) e Qsflueldana

115. GPS is a world wide ratio navigation system formed from a constellation
of satellites and Ground stations.

A) 8 (B) 16

T 24 | D) 32

(E) Answer not known

GPS eamug Geluyoelyoar eigliumiwrs Qsrer CrelCsagen &evLb
QB Qauritg ——————— Gaig el seer Ly 185 QsweuBfng.

A 8 ' (B) 16

C) 24 , (D) 32

(E) e Qsflueldaa : '
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116.

117.

118.

What is meant by the study of something without direct contact?

( Remote sensing . (B) Geographic information

(C) Tacheometry (D) Ranging

(E) Answer not known

Crry QgrLiy @ eflugrigemer Lilgsg QU wperm

(A) Qsrene o awriiey (B) yeluQwe sseu6 amwLIL|SET

(C) CL&ACUMQLLA - (D) Grgdiri-

(E) ol Ggflueldema

When the camera axis is tilted slightly from vertical, the resulting
photograph is called a

(A) Plain photograph (B) Inverted photograph

(C) Inclined photograph Wl‘il‘ced photograph

(E) Answer not known 4

Gawrr ks Qeri@gssns Qmbg AN sTibSTD, D6 elenareuns e L& ILL LD

erenml SempssLIL(HEDg).
A) Qaupm yesiiuib (B) seadyp yamsiub
(C)  smiups yanstiuib (D) gL (smiups) yevsiLLLb

(E) el QgAweldrene

was the first Indian Experimental remote sensing satellite
launched by a Indian Space Research Organisation [ISRO] on 7t June,
1979 ,

(A) ERTS-1 0 Bhaskara - I

(C) IRS-1A (D) Land Stat —1I

(E) Answer not known

89¢r 7, 1979-6 @QoHw elawmrQeuedl gymiEs spasdear [[ISRO] epowrs Cergaan
wpeopulled wpsearipgorns geuliLil L ACLIL Ceafln Qewupans Csrer

DG LD.

(A)  mryingerav-1 (B) urmevsgr-1I

(C) syierev-lar ‘ (D) Gaart avGr_-I

(E) el Qgllweldrena
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119. For 6 face closed polygon, the sum of interior angle as
(A) " 180° ‘ - (B) 540°

W 120° (D) 980°

(E) Answer not known

aprluce. 6 usshigmers Gerar. ue GCaramsdled = Lps Csrerrisafien
S (W5QSTens ereueuarey? \

(A) 180° (B) 540°

(©C) 1720° ‘ : (D) 980°

(E) eler Qgfueicrena |

120. In total station, the parts used for measuring distance by electronically
1S

(A) Encoder Y{ EDM
(C) Battery port : (D) Computer

(E) Answer not known
CLre avGLsen smelilulled, erasgrafls Q,omg)uﬁla) gmyg,mg Serel s LGH

Lweu@Hng)?
A) @Edwursd (B) mgerid
(©) GuirAGumi. o D) saflaf

(E) efen Qgflwefdrena

121. In total station, the horizontal and vertical angles are measured to an
-accuracy of

1" - 5" ~ B) 1'-
) 20" D) 20
. (E) Answer not known
Gl e cvCLagaia, Ll Camammms@Esd, CsmEGss Caramis@nid
slodlwsHnE senas LS eren.
A) 1 e9ammy apsed 5 ey (B) 1AL 1b a6 5 AL uenry
(©) 20 earmg _ (D) 20 Al
(E) o&feni_ @g,?ﬂu.naﬁ]@mco
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122. Arrange the following field work of triangulation in sequential

order :

1. Reference sketches

2. = Station preparation and marking
3. Reconnaissance |

4. Running survey lines

A) 3,241
@ 3,1,2,4
© 23,41
D) 2, 4,31

(E) Answer not known

Triangulation — e Gereu(mid seTiLEfsamer auflengliLig. @UEIGUOSSD :
1. @EduyeequLd

2.  Heoawusms sumt Qsuged wHmib o ol GFlFeD

3.  @panGanrL Sen&ms
4. genafii &TGeu eneven
A) 3,2,41

B) 3,1,2,4

O 23,41

D 2,4,3,1

(E) ofenr Qgfweldena
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123. Match List I with List IT and select the correct answer using the codes

given below :
List I List IT
(a) Correction of sag 1. Tacheometer
(b) Least count 2. Aernial photograph
(¢) Overlap 3. Baseline
(d) Additive constant 4. Prismatic compass

@ ® @ @

@A 4 3 2 1
w3 4 2 1
©1 2 3 4
™3 4 1 2

(E) Answer not known

ucigwe I, utgque IT o e Qurmsd sflwren eden_aw CaiTbASHESLD.

ucgwe I ulgwe IT
(a) Qsmiey Hmssb 1. GL&AGUMBL L
(b) Eovbsulsaarafidans 2. emaeull YasLliLiL b
(c) Gmdy'a{mm 3. 3isCsr®

(d) Gsisens wrHled 4. Qfevwngs Heos sl

@ ® @@ @

@Aa.4 3 2 1
B 3 4 2 1
© 1 2 3 4
D) 3 4 1 2

(E) eofer Qgflweidama
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124. The magnification of the telescope in tacheometer should be atlest

to diameters.
(A) 10 to 20 (B) 10 to 30
w0 20 to 30 (D) 20 to 40

(E) Answer not known
CL&AGUMB L A eodrer  QsraaCpréfdear e @UALMESD G@DHSULSLD

PFe0 SAL_L1b cueny @) (&8 CouarT(HiLd.
(A) 10qpse 20 ) (B) 10 wpse 30
(C) 20qse30 - (D) 20 s 40

(E) odenr Qzfweiicvene

125. In Tacheometer, the horizontal distance ‘D’ is measured by

Where,
K — Multiplying constant
C — Additive constant .
S — Staff intercept

*6D=Ks+c (B) D=CS+K
(C) D=%+S (D) D= xC) +8

(E) Answer not known

CL&HCGUMBL L Ae, Haritol L grywrang (D) ercuaumy ierell LuGHDS!

Where,
K — Multiplying constant
C — Additive constant
S — Staff intercept

(&) D=KS+C (B) D=CS+K
©) D-=%+S D) D=(KxC)+S

(E) ofer Qgflweiicrena
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126. An additional lens provided in a Telescope used for tacheometric
surveying known as :
Anallatic lens (B) Concave lens
(C) Object lens : (D) Apex lens
(E) Answer not known
GL&fGurQulfs siGauie uwau@SsLILGL AsTamaChrédule o drar éh@g,a)rrm
Qeverav, @ geur@Ld
(A)  ameig s Qavane (B) sranGaseu Qeverten
(C)  ligs’ Qeverav (D) =Quéev Qevanen
(E) oo Qgfuaiomame

127. The value of Additive. constant should be if Anallatic lens provided in

telescope
0 ‘ B) 10
(C) 100 (D) 1000

(E) - Answer not known
AgreraCprsfuder Anallatic lens Qummsd @mBSTO Siglge wrHeluler,

wHULireng :
A o B) 10
- (C) 100 . (D) 1000

(E) ofer_ Qgflueldrena

128. If the Intercept on a vertical staff is observed as 0.75 m from a
Tacheometer, the horizontal distance between tacheometer and staff
(Anallatic lens provided in Telescope) '

A) 7.5m (B) 256 m

(C) 50m : W75m

(E) Answer not known
2@ Certigsg vl Qe Qs gm GG 8L L Admbs 0.75 8 Qgmanaellc

srariul L, CLEAGUT B BaGh wLmisEn @ertaorer Ll L gimb
(@greraGrrsdlule Anallatic lens QurmssLin Herarg)

A 75m (B) 25 m

(€) 50m - (D) 75m

(E) e Qgflueiicrenc
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129. In a fixed hair method of Tacheometry the distance D is calculated as

@ (Hegra ®) (f){rs+(f+d)

i
o (£ ' {
: s+(f +d) (D) N +(f+d)s
(E) Answer not known oo
S9&enr Canit GLEHCUQL_Audé grmb D yeang)

@ (Heeea ® (L)+sr(r+a)

i
© G)s+(f+d) | 1) (—f.-]+(f+d)s
(E) ooL Gsfucidama

130. What is the basic principle of tacheometer surveying?

131.

(A) Property of parallelogram ‘QBrProperty of isosceles triangle
(C) Property of right angle (D) Property .of parallel lines

(E) Answer not known

GCL&AGuTBL Lt #7Gauuflen Biiq iLienL S&gleuLd cTemen?

A) @eoensyssen LT (B) @m swuss wpaCanemr LTy

(C) QsnuGsramgdan L (D) @averr Gan(safien LiakTy

(E) oo Qsfuciomes -

If the intercept on vertical staff is observed as 0.556 m from a
tacheometer, the horizontal distance between the tacheometer and staff

station is (Anallatic leng provided in the telescope)
(A) 55m 556 m
(C) 550m (D) 55.5m

(E) Answer not known
focdwéd ewgnasgn Gardler QemGsg SO 0.55 15 erefle,
CLEACGUMBL L mé@n Hoelwd s wvasgd CamrgseEh @eLluuce  gmb
(QsrenaCprsdluder Anallatic lens QurmssLiL Hararg) 8

(A) 5.5 (B) 558

(C) 5508 ‘ (D) 55.518

(E) e Ggfwefdans
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132. Assertion [A]: In Tacheometry, telescope must have magnification of
30 diameter.

Reason [R] : To read the staff accurately at large distances.
(A) [A] only True
(B) [R] only True
(C) [A]is True [R] is False
Both [A] and [R] is True
(E) Answer not known

sapm [A] : CL&ACUMAwL A weped, CgraeCsred, 30 &N ey
2 BUQUEmEELD S e @)(mEs Geuamm(Hib.’

amryewtd [R] - evLmidled, T are smar S wions améﬁ]@mggb&n&.
Q) [A] v s

(B) [R] v @sf

(©)  [A] s oo [R] seuy

D) [A] wpgid [R] @raw@u> s

(E) e9en Qsfucdene

133. For final estimates, usuélly the formula used to calculate the volume of
earth work is

(A) Trapezoidal formula (B) End area formula
M Prismoidal formula (D) Average depth fqrmula
(E) Answer not known

Qurgieurs  @Qnd  wHLIPsEEEES BloGeaumauier sar Tmeus saTsHL

LweTURSSILHD G T
(A)  CLCr9smié GsHyd B) @nd usd Esdmo
€y  Aficvomicéd @sHd (D) spref <y GsHmia

(E) een Qsflwueldana
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134. is 4 line in a plan having a constant lepé. |
(A) Contour line | \ﬁfContour gradient

(C) Contour interval (D) Contour height
(E) Answer not known

GTETLIG| FLOSET urfL'xLQéo &yren smiiey 2 aem g CET(H G L.
(A) srar@i Gsn (B) sraw@i sfey
(€C) sraw@i e Geuafl (D) sram@i o_wgb
(E) oS Qsfucidame

135. Setting grade stake is
(i) Process of erecting the stakes at a given elevation or gradient
(ii)) Setting the staff on'the ground
(iii) Locating the horizontal distance
(iv) _Setting verticality
(1) 1s correct (B) (1) and (iv) is correct
(C) (), (i1), (111) is correct (D) (iv) 1s correct

(E) Answer not known

FgHné GHNUIL(HE SDLILD ADSSH Tl
(1) QsrEsslulL 2 WID Sdeag) &rru’.neﬁ]eb SOLIRISEET SILO&EGD Q&u.n&) P
() arEnss Camama ST ML | |
- (1il) el gIrsams STl
(iv) QemEgos éqcmmgj,gd)
A) () sfwneng B) (i) wpgb (iv) shwnans
(C) (i), (1) wpgw (iii) sfwrarg = (D) ) &ﬁ]u_lrrcmg,j
(E): ofen Qzflweiicvanaw
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136. Choose the right matches,

1. Contour line — Line passing through points of equal RL

2. Contour interval — Vertical distance between two consecutive
. _contours

3. Saddles —  Contour line meeting at point

4 Vertical cliff — Depressions between summits

(A) 1 and 8 are correct (B) 2 and 4 are correct

(C) 3 and 2 are correct M 1 and 2 are correct

(E) Answer not known

sflwurer Qurpsshsmer Cairay Q&@@mm :

1. araw@iCasr( - @07 2 wrgemgyeLw Leataflgamar Glanamé@Ld
Gar
2. sraw@i Qe Geuef - Q@ Qsrrsflunen sran@ise Qe Gu o erer
’ Qeri@sg! SITn
3. Saddles - @@ poanuie sran@r Carpadr @mamrolg)
4. Vertical cliff — 2 &flaEEnsE Qe ule o drer Al LeTaTd
A) 1 wpmbd 3 sflwrenana (B) 2 wpmib 4 swnerenau
- (0) 3 wigw2 sflwunanana (D) 1 voyb 2 sAWTaTEE

(E) e9en QsRweldanew

137. The vertical distance between consecutive contour is termed as

(A) Horizontal equivalent : Contour Interval

(C) Contour gradient (D) Grade contour

(E) Answer not known |

Qgr_fisflunen  sram@isEnée @oLorar QshEss  SMUEHDEGE eTeUaIT)

Quuillu@Gdpg? :
A) Aerwi L @eent | (B) sraw@r @eo_Qeuafl
C) srawr@rsmiey | (D) &Gr® sraw@i -

(E) e Qsfweicrena
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138.

139.

The bench marks established by the survey of India department, at an
interval of 100 km all over the country with respect to mean sea level at
Mumbai as datum is known as '

\6 GTS bench mark
(B) GPS bench mark
(C) Arbitrary bench mark
(D) Temporary bench mark
(E) Answer not known

A(g)meuufﬂén gyrsfl SL WWLLFMS HUFTT OLLIOTE UGS @Eﬁu_m WPPEOEGLD
gai@eaurm 100 km @ Qaafide @hssiuymsEh Hlo ammes wLLSE
GHlwrag ————— aTan SSRGS

(A) GTS wirs @

B) GPSwlLseh

(C) seamadanswinar L &G

D) sparedls wiL &GN

(E) oo Qgflwefdrana

Height of collimation is equal to

‘X R.L of Bench mark + Back sight reading
(B) R.L of Bench mark —I.S. reading
(C) R.L of Bench mark — Back sight reading
(D) R.L of Bench mark — F.S reading
(E) Answer not known

STGLOFET 2 WITLD GTETLIG)

(A) Quens wrisden Ganasiul L Qaeed + eaTLTTeme SieTey
(B) Quené wrisder Ganssiul L Qaeud — @emL LILITTe SieTe,
(C) Quens wrisder G@mDEsLILILL Qe — GaTUTTE®mel 6T .
(D) Quens wrisder GMDESILLL Qa6 — (PETLITTEME HHeTa]
(E) ol Qgfweiievena
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140. Reading on the staff held at portico slab bottom of the roof is 2.900 m
Reduce level of floor of portico is 200, 305 m. Staff reading on the floor
level of portico is 0.905m. Height of the ceiling from floor to portico

bottom of slab is,
\ﬁ; 3.80bm (B) 3m
C) 2.7m D) 1.995 m

(E) Answer not known

Portico slab-ér & ugHuler meuss Qaeualin Staff epaib er@ésiiul L oateurers
2.900 BScigrgo. Portico-efen sapsasdlar  GapssiulL  Qoeerears
(RL) 200.305 8w gajsarsfan Gua ugHule meusg Gaeualn Staff epeib
aRssuLCL Sereurang 0.905 S g, aafiée Portico slab-eén Spu@dssio
9IFen g SaTSHHEGD Qe G 2 6rar 2 woraTg),

(A) 3.805 S B) 3B

C) 2.78cn » (D) 1.995 S

(E) o&feni Qg,rﬂu_le{ﬂci)ma)

141. Contour lines run close together near top of the hill represent
(A) Flat ground Very steep ground
(C) Uniform slope ground (D) Valley
(E) Answer not known
wenauden 2 &84 HAD eanras Qgagb sran@i Carhadr @amss Ghlésdammar.
A)  Qerr flewd (B) W&s sfleurar Heid
(C) @Crwrdf sfeurear Hlevid (D) udrengsnées
(E) oo Qsfueldana

142. Last Level reading taken before shifting a level is enters as
F.S (B) B.S
© 1S (D) L.S
(E) Answer not known
Qaveuaiin smellenw @ THYICISHES @e%rurra; s flung aHESLLHL 6rey aTdled

GH&sLUHD
A) F.S (B) B.S
) 1S D) L.S

(E) ofer Qsflwefeana
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143.

The magnetic needle remain horizontal and the dip is _ ‘ at the
quarter.
@) 90° m’
(C) 180° D) 270°
(E) Answer not known

arouGHde et LHYID &THS Loerdlub e LSS Siemowy.
A) 90° | . (B) 0°

(C) 180° « (D) 270°
(E) &lenr Qgfweiicvanen

144. The magnetic bearing of line AB is 135°30'. Magnetic Declination is '

145.

5°15' west. True Bearing of line AB is

v 13015 S (B) 140°45

(C) 135°45' . (D) 140°15'

(E) Answer not known

AB arénp Camiyen Gus@angs Cufids gpeng 135°30". Gua@amgs Declination

- gangl 5°15" west eramprer Qs Gamg.am L Cufiis yeg).

(A) 130°1% (B) 140°45'
(C) 135°45% (D) 140°15
(E) . afenr Qsflweilevanen

Pickup the correct statement about Local Attraction.

" (A) Incorrect Levelling of Magnetic Needle

(B) Friction of the needle at pivot
(C) . Loss of Magnesium of the needle

Presence of Magnetic substance near the instrument
(E) Answer not known

‘2 HlL rrdy updw slwrer sapansd CoibES0 .

(A) s1pg eardl geupen sELIHSSD

(B) 9Ceuml_qé eardlufien 2 gmiie]

(C) oaflulen Quésafflub @l

D) smesE Simel asrr(rf,g,tn@urr@dr B(mEHD
(E) oo Gsflueidame
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146. The quatrantal Bearing of a line is S 40° W its whole circle bearing is

A)  40° (B) 360°
220° (D) 140°
(E) Answer not known
Gaunrer_e Gudis S 40° W eranuigy Gapned sidlar Qwifii-é ereueummy ianiowb

A) 40° : (B) 360°
© 220° (D) 140°
(E) ofenr QsAweddrana

147. In a Reduced Bearing System, Bearing is measured from

(A) Nearest one (East or West)

(B) East

(C) West :
M Nearest one (North or South)

(E) Answer not known

G@DESULILL TRl S0, ahadpbg) sThd sered LuGEng

Q) swAgcr ga (Hipse oag Gope)
B A8pie

© Cuopes

D)  swhgierer gany (auLéE sdwg AsHE)
(E) elen Qsfwederana

148. The angle between the lines OA and OB, if their respective bearings are
32°15' and 148°45' is :
(A) 58°45' (B) 57°45'
C) 121°15 &7 116°30'
(E) Answer not known
OA vwpgiv OB, Ger@safien Ganmamiisar (GLri) wpapCGur 32°15" wpmib 148°45'
aafle), Qbs CarhaEnss @ Cw 2 drer Careartid
(A) 58°45' ~ (B) 57°45'
(C) 121°15 | (D) 116°30"
(E) oferL Qsfucldrana
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149. Find out the angle ZBAC =

W.C.B of AB:25°30'
W.C.B of AC:85°15
(A) 59°30

(C) 110°45

(E) Answer not known
ZBAC = sam_fluejbd

W.C.B of AB:25°30'
W.C.B of AC:85°15

A) 59°30
(C) 110°45
(E) efen Qgflweiicvena

(B) 89°15'

& 59°45'

(B) 89°1%
(D) 59°45'

150. How many types of compass are used in Surveying?

151.

v 2
© 5
(E) *~ Answer not known

(B) 4
(D) 6

#iGaultiflé erggmen auamaswtan HanFam s LwaTLBSSILIGAdmpan?

A 2
© 5
(E) ofenr Qgfluefdane

(A) Centering
(C) Focussing prism
(E) Answer not known

B 4
(D) 6

is not a temporary adjustment of prismatic compass.

(B) Levelling

\W Adjusting sight vane

aranLg) 9Aaviomg s Heavsstigufen shanads sfl Qeligd ey S wing.

A) e@vwlLBSSS®

(C) ufevgeng ewwLILBHEHSD

(E) e Osflueidame

(B) swarL@BSSISD

(D) unieneu Geuanar sMQFLISED
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152. Find the area, if the following readings are taken by plani meter
I.LR = 4.855; F.R = 8.754; M = 100 cm?

v 389.9 cm?

(B) 379.9 cm2
(C) 369.9 cm?
(D) 359.9 cm?
(E) Answer not known

Germafl Bl epod Geneumd iemeIREeT rHESLILILLTD, SiSET LIFLILIGTENGY
ST Mlwieyb. | ,

I.LR =4.855; F.R = 8.754; M = 100 cm?

(A) 389.9 sgir Q5.8

(B) 379.9 sgirQs.i8

(C) 369.9 sgirQs..8

(D) 359.9 sgiy Q5.8

(E) ofen Qg,rﬂd.uaﬁ]cbma)

153. Length of Gunters chain is

(A) 20 feet Y& 66 feot
(C) 16 feet ' (D) 100 feet

(E) Answer not known

anerLit Ggufefier pHard
(A) 204 (B) 66 =i
(C) 16 ‘ (D) 100 =g

(E) o9erL Qsfluefdrana
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154. Ina chain survey obstacle for both vision and chaining is occurs what it

155.

156.

Crosses a
«” Building | (B) River
(C) Pond (D) Sill

(E) Answer not known

Qsular siGa Qaiyb Qumrpg urimea wHnb Aser AwuapdHE GeamLnrs
SIEMLOGUG]

(A) sigLib - (B) <=y

(C) @embd (D) &

(E) &eo Qsflwefdena

Which of the following is an obstacles to alignment?

(A) Lake (B) Pond
(C) River v(ﬂr House

(E) Answer not known

Wereumeuamauddler ETenLES SEDLWIMG 2 GTeTg) 6TE)?
@) o ®) @b
© an D) 56
(E) = oflen QsMweilcvana

A long offset is to be measured more than
(A) 5m _ (B) 10 m
15m D) 20 m

(E) Answer not known

@ ‘@i U1 Qe aTamug) Qseman afl Qﬁa;mrras SierefltiuL. Geuar(hHd
@A) 58 |  (B) 10 S

(C) 158 D) 20 S n

(E) & Qsflwaiicdvene '
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157. Match the following.

(@)
(b)
(©)
(d)

(A)
(B)
(®)

Type of Chain
Engineer’s chain
Gunter’s chain
Revenue chain

Metric chain

@ ® (©
4 1 3
3 4 2
3 2 4

w2 3 4

(E) Answer not known

QuTS8)s :

(a)
(b)
(c)
(d)

(A)
(B)
©
(D)

(E) efen Qsfedrancy

SRIT/2022

Q&ufer cuans

Qénsafiuir Qsuliem
senL_ieio Qeulen
Qrefeny Qaulle
Quorfé Qeulder

@ ® ©

4 1 3
3 4 2
3 2 4
2 3 4

(d)

L A R )

(d)

o= = N

Length of chain
30 m

100 ft

66 ft

33 ft

Ll

Geullen Barid
30 B
100 =4 |
66 =iq

W Do

33 =iy
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158. The subtense bar is used to measure
Horizontal distance
(B) Vertical distance
© Horizontal and vertical distance
(D) Inclined distance
(E) Answer not known
FLIQL6an LT 6Teng SiaTés LiweL(h&mg)?
(A) Aeiiol L giyb
(B) Qshgsz gimd
(C) deLwl L whyb QFhGSS SITD
(D) smieurear gy '
(E) ofen Qgflweiidena

159. What is the limit of error for 30 m chain as per IS?
(A) +/-2mm (B) +/-4 mm
(©) +-6mm V@7 +— 8 mm
(E) Answer not known ,
- IS-é Lig. 30 8 sruflelésman Genyp euibyy

(A) . +/-2 8.8 (B) +/—4 1.8
(C) +/-6.19.5 : D) +-8 .8
(E) el Qsfluefcrena
160. The temperature variation is error in chain surveying.
(A) Personal error | (B) Compensating error
\46( Cumulative error (D) Instrumental error

(E) Answer not known
Ho sereaiden Curng Geuliuflena WTHLITCigaTTED Qeulen FiGeuulled

Denip 2 (HeurSpg!.
A) saluul Qe - (B) @ Qe Kenyp
(C) gL @Qwrss b (D) smed Qenyp

(E) el Qsflweidana
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- 161. It is necessary to take into account the curvature of the earth in
(A) Chain surveying (B) Compass surveying

©) Plané surveying \(ﬂrGeodetic surveying

(E) Answer not known

wBlullern euanateneu sieudluions sarmédle arHEgIE QamarariiuiL Gouaig i FiGauud
(A) Qeulen iGeuud (B) smbuev rGeuudlmi

(C) QCaren i Gauu . (D) ACurGLmgs FiGauufrs

(E) oo Qsfiuaidme

162. : of the following survey is used to define the property line.
(A) "Topographical survey (B) City survey -
(C) Land survey ) Cadastral survey

(E) Answer not known

@dym@mmmﬁ)@d), Qsnsg Hosder aarema Gl amunss b serEbs LY

LweTURSSILGEDS.
A  Peviuriy sewsQs@iy (B) psisams@a@uy
(C) HPo sawsGa@ly (D) srLmeviré samaEQa@Liy

(E) ofeL Gsflueideama

163. This command is used to displays the drawing as it will be plotted
(A) PLOT \JPREVIEW‘
(C) QSAVE ‘ (D) SHEETSET
(E): Answer not known '
Qb sLL@anurang) cueulILLL egé &1L hmitd erm’ Qeiiw LwueTLRADS.
A) PLOT (B) PREVIEW
(C) QSAVE (D) SHEETSET
(E) ofer Gsfueldena

SRIT/2022 | 72 - o



 164.

165.

' selected objects to another Jpcation about a base point. -
(A) Copy Move
(C) Rotate } (D) Mirror
(E) Answer not known
Gueiv yerefulen eufluins Qurmener wH@nr@® QLsHn@E CaibOsHLILS
A) sma (B) epeu ’
©) QG : (D) By
(E) oferL Qsflueldene
Match the following : |
Key Strokes Function Defined

(a) Ctrl+O 1. Hyperlink Command
() Ctrl+K 2. Open Command
(¢ Ctrl+N 3. Print Command
(d Ctrl+P 4. New Command

@ ® @© @
A) 2 3 1 4
B) 4 1 3 2

2 1 43
(D) 3 4 2. 1

(E) Answer not known
Weraumeuaraipann QummsSis

& evl_Crréei QswoCrréssms cuanquim)
(a) Ctrl+0 1. eapuuieln &Qwer
(b) Ctrl+ K 2. @uersQuar
(c) Ctrl+ N 3. YWAer sQeTL_
(d Ctrl+P 4. Ay sQuer

(@ ® @@ @
A) 2 3 1 4
B) 4 1 3 2
©C) 2 1 4 3
(D) 3 4 2 1
(E) &err Qsfluelérane

73 SRIT/2022

[Turn over



166. Choose the command used to display the dotted line (act as graph) on the
screen

(A) ORTHO (B) SNAP
GRID (D) UNITS

(E) Answer not known
yareflu Ciul i Gasr@seear (Apriurns Qewdu@bd), Haquie  sr(eugpsrear,

sQwar g CsibAs0.
(A) ORTHO ‘ (B) SNAP
(C) GRID (D) UNITS

(E) olen Qsflweievrena

167. Choose the Command used to assign properties of existing object to
another object

MATCH PROP (B) EXT PROP
(C) EXP PROP (D) MIRPROP

(E) Answer not known .
uew Qumrmefien  seamewasamer, Geupy  QuIGEREGEL  AuUTBSGuFHETEN

sQuar L g Caibbs®
(A) MATCH PROP ~ (B) EXT PROP
(C) EXP PROP (D) MIRPROP

(E) oo Qsflweildana

168. The command used to help the user to draw horizontal (or) vertical line

is called as
(A) LIMITS ‘T{ORTHO
(C) QUIT (D) EXPLODE

(E) Answer not known
vwemeflsar HevLwol L wHmd QFRiEGSHECHETH umrausHGL LwaUHSSULIGHLL

& wewTL Dy, 6ang)
A) LIMITS (B) ORTHO
(C) QUIT (D) EXPLODE

(E) e Qsfweidame
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169. command is used to show the section of solids or objects
(A) Ray (B) Array
v Hatch (D) Fillet

(E) Answer nbt known

ALuQunmlsailan Qeul (s Campnsamss Ghlés LweTLGHLD S Laer
(A) Ray (B) Array

(C) Hatch (D) Fillet

(E) e9er Qsflueideme

170. An arc is a part of a circle. The methods that are used for defining an
arc: .
(1) Three points on the arc
(i) Start point, centre, endpoint
(iii) Start point and radius
(iv) Start point, end point and included angle

(A) (1) and (i1i) only | ?Bﬂi), A(ii) and (iv) only

(C) (1) and (iii) only (D) (i11) and (iv) only

(E) Answer not known -

S Ul L1 LGS auenpt Caemanwien efleuprisar

G) operm yetafser

(i) psd ydtaf, ewwiiyere, seLdliyeraf

i) psed yerafud, ayrapid

(V) s Lerafl, seLAliLdre whmib o U Caramd

@) @ woppo (i) we e (B) ), (i) wipid (v) v Go
(©) (i) vy (ii) wLEL (D) (iii) womw (v) vl G
(E) e QgAueidene

o _ : 75 SRIT/2022
[Turn over



171. The benefits of using AutoCAD
(i) Saves time and money
(11) Creates production sheets slower
(1i1)) Decreases fhe value to clients
(iv) Complete the project faster
(A) (i) and (ii) only
(B) (i) and (iii) only
(C) (i11) and (iv) only

v () and (iv) only
(E) Answer not known

2t CLrGal uwenuBhidgieudler Lwisneilanarey
(1) Gy wHmb veTsang Callssm

(i) e pusH srarsar ea_@mm@@g,]eb DBELD
(1) eaumgsaswrerigaflb AHliwU GoDSSH
(iv) ﬁl'—l—wm@ gfigwns Wy bsd

A) () wpgd (1) wi G

B) () wppis (i) we G

©) (i) wpgi> (v) wi G

D) () wppid> (V) wiEo

(E) o&eor Qsflueddrena
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172.

173.

The mass storage Devices are

(1) Magnetic Tape
(1) Compact disk
(i) CD-ROM

(iv) Monitor

“QK( (1) and (i1) only (B) (i) and (iii) only
(C) @), (1) and (iii) only (D) (iii) and (iv) only
(E) Answer not known

sifswrar Gl smellser wmreuear?

(1) . smpgmEILT

(i) eoall

(i) uvgés wW W Herarausd

(iv) salafigdHenn

A) () wogd (11) wLED (B) (1) wpgw (iii) w Gid
©) @), (i1) whmw (111) wL Hd (D) (ii) wpgd (V) LWL EW
(E) e Qgflwueicrane |

Method in which a theodolite with or without a chain is employed to
setout the curve is called

(A) Linear (B) Chain
(C) Tape | @ Angular
(E) Answer not known

aumaTael wss QgL ar soeg Gslear Qoomod  HGuTCLrepe
pweTURSSULGHL parn, Qeueurm SioPssiLGEng

(A)  &Seflwrr , (B) Qsulen

©) GLu D) sr@ei

(E) aﬂmx..@g,rﬂu.laﬁlcbmco
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174. Which curve is provided on highway for easy change of grade?
Vertical (B) Horizontal |
(C) Simple (D) Compound
(E) Answer not known

ApGErsTamasaia erafigrar sfey rHDsHHE SMLESLILIHLD cuameTey eT&I?
(A) Qsrsss | (B) feLwl L

(C) seou cuemeney (D) s @ cuaneray

(E) o9 Qsflueidena

175. The ‘Point of Curve’ of a simple circular ¢yrve is
(A) Point of Tangency tﬁﬁ)int of Commencement
(C) Point of Intersection (D) Mid-Point of the Curve
(E) Answer not known

@ erafiws é.lL'.L euearellen ‘auanereflen Lictafl’ eresmLig)

(A) LreénQgend Laret (B) Qgrissi yerafl

(O) Qeaul @b yerraf (D) euaveraar p@OLILeTaf
(E) oo Qsflueldana

176. Choose the formula used to find the length of traverse line.
A IL[*+D? (B) I?-D?

\-wa/L2+D2 () JI2-D?

(E) Answer not known

Qg Cam_iyen Barsens s (9SG0 GSSTD 6rg)?
A) L%+ D? | -~ (B) I2-D?

(C) I2+D® (D) VI?-D?

(E) o&fev Qsflueidana
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177. Three methods of observing bearings in the field for Traversing by the
Fast needle method are
1. Direct method in which the telescope is transited
2.  Back bearing method
3.  Fore bearing method
4. Direct method in which the telescope is not transited

A 1,3,4 B) 2,3,4

w124 D) 1,2, 3

(E) Answer not known

SomevL_ Big 6 (panw epaid Hlerigatl e CaETERTEIS®ET ST ILSDHETS uu_ld'ru@g,g;uu@m
ST (PEDEHET

1. Qsree Cprsd sL_gsliL@L Corig WD

2. CGus Cufk apem

3. JGunrtCufli aperm

4. Qsree Cpréd s_gsL1LLTES CHIY. P

A 1,3,4 A B) 2,3,4

©) 1,24 D) 1,23

(E) elenL Qgflweildena

178. In a closed traverse ABCDEA, the included angles were taken by using
theodolite. Then the theoretical sum of Included angles of this traverse is

 540° (B) 720°
(C) 180° - (D) 360°
(E) Answer not known

ABCDEA aénp . pueyerer Lpreuiflan o Garammagar SCurGLrepel.  aped
samsAL_LIL@Apgy oefl®, @Bs yrraiflar  smsHwue  (theoretical)
o I Geramriusafian sl (h Gsrenswinang)

(A)  540° ~ (B) 720°
(C) 180° (D) 360°
(E) &fer Qsflweidrens
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179. Pick up the correct statement(s).

1.

(A)

The horizontal circle of a vernier is graduated in the quandrantal

bearing system.
The vertical circle of a vernier theodolite is graduated from
0° to 90°.

Only 1 is correct

\(ﬁf Only 2 is correct

©
D)

1 and 2 are correct

1 and 2 are incorrect

(E) Answer not known

sfluren HlEaasEsamaer T(HESa|LD.

1.

(A)

(B)
©

®

(E)

SRIT/2022

e Ceuraflwifen SepLiol L eul L b @GeuraRTL_gre_c Srmdl  Henolibed
GOESILL aTaTE. |

Qauraflwi - ACurCLremelyer Qehigsgs el 0° age 90° eueny
GM&EsLLIL (Herarg).

1 wl_Hw &l

2 o (Hw g

1 womid 2 &

1 pmid 2 seum

allenL Qg flwelicvency
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180. Three temporary adjustments of a theodolite includes
(1) Measuring the vernier
(2) Set’ting up
(3) Levelling up

(4) Elimination of parallax

(4) (1), (2) and (3)
v’ ©, @ and @
© (1), (3 and (&
D) (@), (1) and (4)
(E) Answer not known
HCUNCGLrene L1960 SPESETL T PG g;g')a;rrc&a; &l Qe PEDSET L BIGLD
(1) Qeurafweny Sierell BB
(2) SADIFEHD
(3) Qaveuadi oyt
(4) CGuresaev ;_f;sé;m
A4) (1), (2) wpmyd (3)

B)  (2), (3) wpmd (4)
(O (D), ) whgd (4)

D) (2), (1) wpmid (4)

(E) sl Asfuedioma
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181. A theodolite is called a transit théodolite, when its telescope can be
revolved through a complete revolution about its
(A) Vertical axis in an inclined plane
(B) Horizontal axis in an inclined plane
(C) Vertical axis in a horizontal plane
M Horizontal axis in a vertical plane
(E) Answer not known

@ HCUTCLImaL, @ rmadll ACurGLrmal e SimpssliuGEng. e
QgrapaCrrad sigear s spnfludemen arps LTamgule spaib GuTg)

(A)  sriups urenguid QFkIGES &S |

(B) smups umensuled Aen ol L &G

(C) deLwl L ureguie QFBIGES &S

D) Qerigsg uTezulen e Lol &

(E) e&lev Qsfluelédrana

182. In a tangent clinometer, the distance between an eye vane and an object

vane 1s .
20.30 cm
(B) 20.30 mm
(C) 21.88cm
(D) 21.88 mm

(E) Answer not known

CLanQgan SafiGanmBLL M sam Caugus@d bRsE . CaigsELo @ar_Cuwi 2 e

EA

(A) 20.30 Qa8
(B) 20.30 818
(C) 21.88 Qa8
(D) 21.88 818

(E) e Qasflweldrana
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183. The very accurate method of orientation by the three point problem

184.

method of plane tabling is the

(A) Mechanical method (B) Graphical method
Lehmann’s method (D) Tracing paper method
(E) Answer not known

LiGerarr GLlbeflfuflen apery yemafl flése aparm apeod Crré@haeuiar Waeab

gloalworer (e
(A @Qupdr e (B) aumrsema aperp
(C) Cawarav peom (D) sLwise srdg e

(E) eler Qsflweleremen

Three point problem in plane table surveying may be solved by
(1) Mechanically

(2) Graphically

(3) Trial and error

(4) - Chaining A

@ 1),3),® B @), 3), 4)

© @, @, 5 0,0,.0

(E) Answer not known

'GGaran GLG6T siGadiifld gpary umien grueargdparar Siey @eet paid

Qupliu@ibd

(1) Qussraisda

(2) Agmlse

3) gerwe wHyb KW

4)  Qsudafi |

Aa @M, 3),* ' B @), 3), @)
©€) 2,4, 1) D) (1), (2, (3)

(E) ofenr QsNwelcrena
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185. Match the following :

Y

(a) Mechanical method

(b) Graphical method

Tracing paper method

Do

Triangle of Error method

(¢) Trial and efror method 3. Bessel’s method

@ ® (©
A 1 2 3
\«Bf 1 3 2
© 3 1 2

1

D) 2 3
(E) Answer not known

Qereu(meuaraupenmil QUMHSSIS :

(a) Qupdr pan L gLLNs sTHs penn

(b) ey s@® PO 2. Qe epepuien ps&Camand
(¢) Gsmganer wpmid 3. Quevavalar WP

Qenwp perm

@ O ©
A 1
B 1
(C) 3
D) 2

e )

3
2
2
3
(E) ofont_ Qs fueidama
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186. This is quick‘and accurate method in three point problem.
(A) Bassel's Method (B) Graphical Method
(C) Mechanical Method (D) Trial and Error Method

(E) Answer not known

apan umier’ GFrLeTd  APOLOTS auenpgadled, ellengeumear WLHMILD gloawirer

wpapowu GHIG
(A) urevse apen ' (B) auarseae e
©) Quisygpap N Corganan oo Genip oo

(E) el Gsflweldane

187. Choose the correct order of setting up a plane table from the following
(A) Centering, Levelling and Orientation |
(B) Centering, Orientation and Levelling
6 Levelling, Centering and Orientation
(D) Levelling, Orientation and Centering
(E) Answer not known

Qereu(meuameumibied 6rg L uemsmwu sewluspstar sflurer aflemsamwus .
GHEGLD | |
(A)  @wulLBSSEH, swaTLHESISD, CHéE Hlama
B) owuiLESSED. CErés Hlaw, swaBHsIHw
©) | FwaLHEgI5®, @wuiL@Ssis®, Crrés Hae
D) swaLRSHSD, Gpn&@(r_ﬁl%ﬁ)@, @LWLLILHSSISD
(E) fanL Qg fweidame
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188. The intersection method of plane table survey is otherwise called
(1) Graphic triangulation
(11) Triangulation
(111) Non-graphic triangﬁlation
(iv) Mapping
(A) (1) only
(B) (@v) only
(O (i) only

6 only

(E) Answer not known

sLger Siesams FiGeuula e arar Geul Ripern apanpullen wH@ T QuwiFTeag
(1)  aumruL wsGsrem SeTdama

(1) &Csram SeTEms

(13)  auemguLwpD PECETEMT SieTEms

(iv) aumruLl@ssd

(A) (1) ol @

B) () wiEw

(C) (iii) wi @w

D) @) vl

(E) oo Qsfwelcrana
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189. In Large scale plane table survey, the plumbing fork is used for accurate
(A) Levelling | Centering
(C) Orientation (D) Sighting the points
(E) Answer not known

Quilu siatelleorar GGarer CLGear sTGoudled Gemb@m ~Gurig-ar LwarLTE

gloaflwns
Q)  esvauBsSHL - (B) evwiu@sse
(C) Coressass (D) yerefgemar L

(E) ofeni Qg,uﬂmaﬁ\ebebeu

190. Arrange the following working operation of plane table survey in
chronological order.
1 Levelling the table
2.  Fixing the table to the tripod
3. Sighting the points
4

Centering
5.  Orientation .
A) 5,3,1,2,4 _ B) 1,3,2,4,5
W 21,453 D) 2,4,1,5,3

(E) Answer not known

Epsam_ 19Caran G196 &iGeuufar Couamar Qeid apevperws (working operation)
sreeddlliLg @uBEUBssed

1. Crlener Qeaveue Qauieug

2.  Tripod stand-& GL9ear QuTmSSIeus

3.  Qan@ssiiucL yarefser (Points) Cpréseus

4. aWIL(H SIS

5. gfluaGLsean Qeligd

A 5,31,24 (B) 1,3,2,4,5
©C) 2,1,4,5,3 D) 2,4,1,5,3

(E) &L Qsfuelédama
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191. Which survey is checking of plotted details and can be done easily on the
spot itself? ‘

(A) Compass survey

%B( Plane table survey

(C) Chain survey

D) Dﬁmpy level survey

(E) Answer not known

QIMIUL S&eudEmeT FAUMTESaD LHNID ABS QL 5HCaCw eafigns GewlicugnHEWD
b FTGeu 2 eTerg)?

(A) smbuev &TCau

(B) swser Cuoans #iGeu

(C) Qsuer siGeu

D) L9 Qeeue FiGa

(E) &l Qsfluelcens

192. The formula for calculating sum of interior angles in a polygon is
A (®-1)90 _ B) (n+1)90
©C) @n+4)90 \ﬂr (2n - 4)90
(E) Answer not known
LeCaamidd 2 drar o dr Garansaian Aprasmus sasd QousHsTar GSHTD
@A) (n-1)90 ‘(B) (n+1)90 |
C) @n+4)90 (D) (2n.—4)90

(E) &len Qsflweldeana
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193.

194.

195.

A continuous thin line that shows where a measurement begins and
where it ends 1s known as :
(A) Leader line (B) Extension line
(ﬁ’ Dimension line (D) Projection line
(E) Answer not known
@ Slarei(p arrflBHg OFM_kiEGHADS LHMID TG Py el Hng TaTLmSS ST (HILD
Ggmiédlumer Gweaealu Canh Qg erar HHwiLBGADg
(A) S_iGsr@ (B) eéevQranager Can(
(C)  erwerager Csm( - (D) uQrryseagar Can()
(E) ofen Qs u@ﬁ]d)em,u
In aligned system of dimensioning, the dimensions may be read from
Bottom or right hand edge (B) Bottom or left hand edge
(C) Top right hand edge (D) Top left hand edge
(E) Answer not known '
grenwésiul L uflorerr Hanwinde, uflwrarhisamer QA mbs Lig &b
A)  Sp sivag ueg e elallby (B) &p soeg GLg @s edafiby
(O Cuambs uewg) s Qﬁ]GﬂILbL.I | (D) Cuaimbs QLgiens elaflibyy
(E) oenr Qsfweidana
Diagonal scale is used to represent
(A) One successive unit (B) Two successive unit
W Three successive unit (D) Four successive unit
“(E) Answer not known
apaaall L sareyCarele (Diagonal scale) vwau@ssiiu@n siwsrarg
(A)  emAsmrsdwren i@ (B) @m Qgriédlunear siee
©C)  epem Qg,rru'fa’;é]u.nrrm SIE (D) mreng Qsr_iéflune e
(E) &enr QsNweldena
89 ‘ SRIT/2022
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196. 1s the dimension of A3 size drawing sheet recommended by

the Bureau of Indian standards as per SP:46 (2003).
(A) 841 x 1189 (B) 594 x 841
(C) 880 x 1230 {297 % 420

(E) Answer not known

SP:46 (2003) Wer Ly @pHwu sThee uailussste (BIS) ufigemresiucL A3

SIETEY UMTSHE Fatlar LiflomrenTih ————— &L
(A) 841 x1189 (B) 594 x 841
(C) 880 x 1230 (D) 297 x 420

(E) o9er Qzfwedcrena

197. What is the left margin for A2 drawing sheet?
(A) 40 mm (B) 30 mm
?0(20 mm (D) 15 mm

(E) Answer not known

A2 auemgse greflen @L g eefiby ereitan?
(A) 40 8.8 (B) 30 .5
(C) 20.4.8 (D) 15 8.8

(E) o9er Qsfueoena
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198.

199.

© 200.

For drawing thin lines of uniform thickness the Pencil should be
sharpened in the form of, ‘
!O( Chisel edge (B) Conical point
(C) Round edge (D) Flat edge
(E) Answer not known
Symen  sywer QararL Cam@smer cumrausnE, Queatfldar peamer @eieuny
gaftenliu(biss Couanr(HLd
(4) Qe @efll edafiours ' (B) sy eanurs
(O) o maenuns (D) steLwrer elaflibuns
(E) &e Qsflweiidame
The 700 mm x 1000 mm size of Drawing board designate as per BIS is,
@ B, v B,
(C) B, - (D) By
(E) Answer not known
BIS-<é 700 mm x 1000 mm siareydrer cuenjse Lamsss @8i1ssLiu@n ol
@ B, . ® B
C€) By, (D) B
(E) eler Qsflueldena
What is the size in mm (L x W x T) of B, Drawing Board?
(A) 150 x 1000 x 25 (B) 700 x 500 x 15

1000 x 700 x 25 (D) 500 x 300 x 15
(E) Answer not known
B, aierge Leamsulen sare| (BIBS)(L x W x T) erenen?
(A) 150 x 1000 x 25 (B) 700 x 500 x 15
(C) 1000 x 700 x 25 (D) 500 x 300 x 15
(E) oo Qsfweldena
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